MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY PRODUCT CONTROL SECTION

DEPARTMENT OF PERMITTING, ENVIRONMENT AND REGULATORY 11805 SW 26 Sireet, Room 208
AFFAIRS (PERA) Miami, Florida 331752474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NO A) www.miamidade.gov/development/
Kawneer Company, Inc.

535 Guthridge Court

Norcross, GA 30092

Scork:

This NOA is being issued under the applicable rules and regulations govering the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami~Dade County PERA—
Product Control Section to be used in Miami-Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami—Dade County Product
Control Section (In Miami—Dade County) and/ or the AHJ (in areas other than Miami-Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
PERA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “7"/;s” Deep 1600 System 1% Dry Glazed Alaminum Curtain Wall — S.M.I,

APPROVAL DOCUMENT: Drawing No, 1790, titled Series “7'3/;¢—inch Deep 1600 System 1 Curtain
Wall (8.M.1)", sheets 1 through 18 of 18, dated 03/09/12, prepared by W.W. Schaefer Engineering &
Consulting, P. A., signed and sealed by Warren W. Schaefer, P. E., bearing the Miami~Dade County
Product Control Section revision stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state,
model/series, and following statement: "Miami-Dade County Product Control Approved", unless otherwise
noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA No. 08-1103.08 and consists of this page 1 and evidence pages E-1, E-2 and E-3,
as well as approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P. E.

MIAMIDADE COUNTY NOA No. 12-0622.06
Expiration Date: June 22,2016

GASO"(\ Approval Date: August 30, 2012

:)t Page 1
—sleAle g



Kawneer Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. 1790, titled Series “7"*/;s-inch Deep 1600 System 1 Curtain Wall
(S.M.L)”, sheets 1 through 18 of 18, dated 03/09/12, prepared by W.W. Schaefer
Engineering & Consulting, P. A., signed and sealed by Warren W. Schaefer, P. E.

B. TESTS
I. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Small Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of curtain wall system,
prepared by Architectural Testing, Inc., Test Report No. ATI-B8873.01-550-18,
dated 05/22/12, signed and sealed by Vinu J, Abraham, P. E.
2. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Small Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 20394
along with marked-up drawings and installation diagram of curtain wall system,
prepared by Hurricane Test Laboratory, LLC, Test Report No. HTL~0049—0202-05,
dated 02/07/05, signed and sealed by Vinu J. Abraham, P. E.
(Submitted under previous NOA No. 06-0320.19)
3. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Small Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked—up drawings and installation diagram of curtain wall system,
prepared by Hurricane Test Laboratory, Inc., Test Report No. HTL-0049-0406-01,
dated 06/29/01, signed and sealed by Vinu J. Abraham, P. E.
(Submitted under previous NOA No. 06-0320.19)
4, Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2} Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Small Missile Impact Test per FBC, TAS 201-94
5) Large Missile Impact Test per FBC, TAS 201-94
6) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked—up drawings and installation diagtam of curtain wall system,
prepared by Hurricane Test Laboratory, Inc., Test Report No. HTL~0049—1106-00,
dated 06/29/01, signed and sealed by Vinu J. Abraham, P. E.

(Submitted under previous NOA No. 06-0320.19)

L

Jaime D, Gascon, P. E.’
Product Control Section Supervisor
NOA No. 12-0622.06
Expiration Date: June 22, 2016
Approval Date: August 30,2012




Kawneer Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS

1.

2,

Anchor verification calculations and structural analysis, complying with FBC-2010,
prepared by W.W. Schaefer Engineering & Consulting, P. A., dated 02/09/12, signed
and sealed by Warren W. Schaefer, P. E.

Glazing complies with ASTM E1300-98/ 04

D. QUALITY ASSURANCE

1.

Miami-Dade Department of Permitting, Environment, and Regulatory Affairs
(PERA).

E. MATERIAL CERTIFICATIONS

1.

2.

3.

Notice of Acceptance No. 11-0624.01 issued to E.I. DuPont DeNemours & Co., Inc.
for their “DuPont Butacite® PVB Interlayer” dated 09/08/11, expiring on 12/11/16.
Notice of Acceptance No. 11-0325.05 issued to Solutia, Inc. for their “Saflex and
Vanceva clear and color interlayers” dated 05/05/11, expiring on 05/21/16.
Trelleborg Part No. BRM-270400 EPDM exterior glazing gasket complying with
ASTM C864 Option II exceptions, ASTM D412 1509 PSI; D395B 22 HRS @ 70°F
16%; ASTM D 2240 Type A 70; ASTM D 573 70 LIRS @ 100°C +2.0%, —9.2% and
+ 6 pts.; ASTM D 624-Die—-C 101.7 ppi; ASTM D 1149 100 HRS/ 100pphm @ 40°C
20% No Cracks; ASTM D746 max. -42.8°C; ASTM D 926 No Migration Stain and
ASTM C 1166 No Limit.

Test Reports No.’s ARDL-PN-74740-A and ARDL-PN-7474-BB, issued and
prepared by Akron Rubber Development Laboratory, Inc., dated 08/21/02, for
TREMCO EPDM exterior glazing gasket complying with ASTM C864 Option II
exceptions, ASTM D412 1871 PSI, D395B 22 HRS 100°C 14.4%; ASTM D 573 70
HRS @ 100°C -5.0%, —2.2% and + 4 pts.; ASTM D 624-Die-C 162.2 ppi; ASTM D
1149 100 HRS/ 100pphm @ 40°C 20% No Cracks; ASTM D746 max. —58°C; ASTM
D 926 No Migration Stain and ASTM C 1166 No Limit, dated 08/28/07 and 09/04/07,
both signed by Jim Drummond.

(Submitted under previous NOA No. 08-1103.09)

F. STATEMENTS

1.

Statement letter of conformance and complying with FBC-2010, issued by W.W.
Schaefer Engineering & Consulting, P. A., dated 02/09/12, signed and sealed by
Warren W. Schaefer, P. E.

Statement letter of no financial interest, issued by W.W. Schaefer Engincering &
Consulting, P. A., dated 02/09/12, signed and sealed by Warren W. Schacfer, P. E.

C i

Jaime D. Gascon, P, E.

Product Control Section Supervisor
NOA No. 12-0622.06

Expiration Date: June 22, 2016
Approval Date: August 30,2012




Kawneer Company, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

F. STATEMENTS (CONTINUED)

3.

Notification of successor engineer per section 61gl15-27.001 of the Florida
Administrative Code, notifying original engineer that the successor engineer is
assuming full professional and legal responsibility for all engineering documents
pertaining to the curtain wall system 1600 System 1 & 2 of Kawneer Company, Inc.,
dated 02/29/12, signed and scaled by Warren W. Schaefer, P. E.

Laboratory compliance letter for Test Report No. ATI-B8873.01-550-18, issued by
Architectural Testing, Inc., dated 05/22/12, signed and sealed by Vinu J. Abraham,
P.E.

Laboratory compliance letter for Test Report No. HTL-0049-0202-05, issued by
Hurricane Test Laboratory, LLC, dated 02/21/05, signed and sealed by Vinu J.
Abraham, P. E.

(Submitted under previous NOA No. 06-0320.19)

Laboratory addendum letters for Test Reports No.’s HTL-0049—0406-01 and
HTL~0049-1106-00, both issued by Hurricane Test Laboratory, Inc., dated 09/15/03,
both signed and sealed by Vinu J. Abraham, P. E.

(Submitted under previous NOA No. 06-0320.19)

Laboratory compliance letters for Test Reports No.’s HTL~0049-0406-01 and
HTL-0049-1106-00, both issued by Hurricane Test Laboratory, Inc., dated 06/29/01,
both signed and sealed by Vinu J. Abraham, P. E.

(Submitted under previous NOA No. 06-0320.19)

G. OTHERS

1.

Notice of Acceptance No. 08-1103.08, issued to Kawneer Company, Inc., for their
Series “1600 System 1 No Steel Reinforcement Aluminum Curtain Wall - S.M.L”,
approved on (7/14/10 and expiring on 06/22/16.
Test reports on: 1) Air Infiltration Test, per FBC, TAS 20294
Reference only 2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked—up drawings and installation diagram of curtain wall system,
prepared by Architectural Testing, Inc., Test Report No. ATI-B3877.01-550-18,
dated 02/20/12, signed and scaled by Vinu J. Abraham, P. E.

Ol

Jaime D. Gascon, P. E.

Product Control Section Supervisor
NOA No. 12—0622.06

Expiration Date: June 22, 2016
Approval Date: August 30,2012




GENERAL NOTES:
1. THESE CURTAIN WALL SYSTEMS HAVE BEEN TESTED, ANALYZED & APPROVED: FOR
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE “ALLOWABLE DESIGN
PRESSURE TABLE(S)".

2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED &
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS
& SHALL NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED
ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

4, THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS
TESTED & PROPOSED FOR WATER, AR, IMPACT, CYCLIC & UNIFORM STATIC AR
PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS
TAS—201, 202 & 203 FOR SMALL MISSILE IMPACT CURTAIN WALL SYSTEMS.

5. THESE CURTAIN WALL SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH AND
MEET THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH
VELOCITY HURRICANE ZONES (HVHZ).

6. THIS CURTAIN WALL SYSTEM MAY NOT BE INSTALLED AT ELEVATIONS BELOW 30
FT. ABOVE GRADE WITHOUT AN APPROVED SHUTTER.

7. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND
GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH
THE FLORIDA BUILDING CODE, A DIRECTIONALITY FACTOR OF KD = 0.85 MAY BE
APPLIED WHEN USED IN CONJUNCTION WITH LOAD COMBINATIONS SPECIFIED IN
SECTION 2.0 OF THE ASCE 7 STANDARD.

8. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF
THIS PRODUCT. WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD
SCREW ANALYSIS ONLY.

9. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO
CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF
FLORIDA BUILDING CODE CHAPTER 20.

10. THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS
USED FOR ANY JOB PROVIDING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS.

DRAWING USE INSTRUCTIONS:

1. DETERMINE IF THE WALL SYSTEM IS TO BE A MULTI-SPAN, REINFORCED
SINGLE SPAN, OR NON—REINFORCED SINGLE SPAN CONDITION. IF
MULTI—SPAN, ALL CONDITIONS SHOWN ON SHEETS 2 & 3 SHALL APPLY. IF
A REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON SHEET 4 SHALL
APPLY. IF A NON—REINFORCED SINGLE SPAN, ALL CONDITIONS SHOWN ON
SHEET 5 SHALL APPLY.

2. CONDITIONS MAY NOT BE MIXED BETWEEN WALL SYSTEM TYPES.

3. ALLOWABLE GLASS PRESSURE SHALL BE CONSIDERED WITH ALL WALL
CONDITIONS AND SHALL CONTROL IF LESS THAN THOSE ALLOWABLE
PRESSURES STATED FOR THE APPLICABLE FRAMING SYSTEM.

FREE SPANNING JAMB PERIMETER SEALANT NOTE

(APPLICABLE TO ELEVATION ON SHEET 5):

WHEN THERE IS NO CONTINUOUS JAMB SUPPORT,
THE MINIMUM & MAXIMUM ALLOWABLE SPACE
BETWEEN JAMB FRAME MEMBERS & THE OPENING

s e e .
Tt

e v

CORNER CONSTRUCTION:

STANDARD FRAMING AT TOP & BOTIOM HORIZONTAL MEMBERS: VERTICAL
MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT,
BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A
SHEAR BLOCK (ITEM #14). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO
THE VERTICAL FRAME MEMBER WITH 2 NO. 12 X 1 7/8" FHTF SCREWS. THE
HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2
NO. 12 X 7/8" PHTF SCREWS. CORNERS ARE SEALED WITH DOW 795
SILICONE SEALANT.

STANDARD FRAMING AT INTERMEDIATE HORIZONTAL MEMBERS: HORIZONTAL
MEMBERS ARE SQUARE CUT, BUTTED AND MECHANICALLY FASTENED TO THE
VERTICAL FRAME MEMBERS VIA A SHEAR BLOCK (ITEM #16). THE SHEAR
BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL FRAME MEMBER WITH 2
NO. 12 X 1 7/8" FHTF SCREWS. THE INTERMEDIATE HORIZONTAL FRAME
MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 NO. 12 X 7/8" FHTF
SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT.

TYPICAL 90 DEGREE CORNER FRAMING: VERTICAL CORNER MEMBERS RUN
THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT, BUTTED AND
MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK
(ITEM #15). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL
CORNER FRAME MEMBERS WITH 3 NO. 12 X 7/16" PHIF SCREWS. THE
HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2
NO. 12 X 1/2" FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795
SILICONE SEALANT. !

90 DEGREE CORNER FRAMING AT SPLICE JOINT LOCATIONS: VERTICAL CORNER
MEMBERS RUN THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT,
BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A
SHEAR BLOCK (ITEM #18). THE SHEAR BLOCK 1S MECHANICALLY FASTENED TO
THE VERTICAL CORNER FRAME MEMBERS WITH 2 NO. 12 X 7/16" PHTF
SCREWS (2 PER SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE
ATTACHED TO THE SHEAR BLOCK WITH 2 NO. 12 X 1/2" FHTF SCREWS (2

PER SHEAR BLOCK). CORNERS ARE, SEALED WITH DOW 795 SILICONE SEALANT.

STANDARD FRAMING AT SPLICE JOINT LOCATIONS: VERTICAL MEMBERS RUN

THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, BUTTED AND
MECHANICALLY FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK
(ITEM #17). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE VERTICAL
CORNER FRAME MEMBERS WITH 2 NO. 12 X 1 7/8" PHTF SCREWS (2 PER
SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE

SHEAR BLOCK WITH 2 NO. 12 X 1/2" FHTF SCREWS (2 PER SHEAR BLOCK).
CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT.

SUBSTRATE OR FINISHES SHALL BE SPECIFIED BY
THE ENGINEER OR ARCHITECT OF RECORD FOR EACH
JOB BUT SHALL NOT BE LESS THAN 1/2" NOR
GREATER THAN 1 3/8". WHEN CONSIDERING TYPE,
DEPTH & JOINT SPAN OF SEALANT, THE
ENGINEER/ARCHITECT SHALL TAKE INTO
CONSIDERATION THE DEFLECTION OF THE JAMB
MEMBER THAT WOULD OCCUR WHILE SUPPORTING THE
JOB REQUIRED DESIGN WIND PRESSURE. ALSO TO
BE CONSIDERED SHALL BE THE MATERIALS &

SURFACES TO WHICH THE SEALANT WILL BE APPLIED:

GLASS D.L.O. SIZE VS. PRESSURE
GLASS | MAXIMUM | MAXIMUM | ALLOWABLE
OPTIONS D.L.O. D.L.O. DESICN
WIDTH | HEIGHT | PRESSURE
58 1/2" |82 1/8"| +/-90 PSF
1,2, 3 & 4|51 3/8"[93 1/2"| +/-90 PSF
50 5/8" |94 3/4"| +/-90 PSF
THESE 1.G. GLASS OPTIONS " " 4 /-
ARE NOT APPLICABLE FOR 75 3/4" | 54 5/87| +/-90 PSF
USE WITH A VERTICAL CORNER V&g |98 1/27|93 1/27] +/~65 PSF
FRAME MEMBER. L.G. GLASS 57 3/4" 94 3/4" _|./_55 PSF
MAY ONLY BE APPLIED ; -
BETWEEN INTERMEDIATE & 58 1/2" |93 1/2"| +/-90 PSF
EJAMB FRAME MEMBERS 5&6 |57 3/4"|94 3/4"|+/-90 PSF
KAWNEER DOES NOT SUPPLY 7 o
A CORNER PRESSURE PLATE 73 3/4" | 54 5/8"|+/~90 PSF
FOR USE WITH I.G. GLASS) SEE GLAZING DETAILS FOR GLASS OPTIONS
HEIGHT & WIDTH MAY NOT BE INTERCHANGED!

THESE DRAWINGS ARE APPLICABLE ONLY TO THE PRODUCT
SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY
AND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY
THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL

CHECKED BY:
WWS.

DATE:
03/03/12

OF ANY PRODUCT NOT PRODUCEDC BY THE MANUFACTURER
STATED ON THESE DRAWINGS.

MAXI

MUM ALLOWABLE FRAMING

MEMBER DEFLECTION

L/

180 (SPAN OF MEMBER
DIVIDED BY 180)

NOTE:

DEFLECTION AS RESTRICTED BY THE
BUILDING CODE.
REQUIRE LESS DEFLECTION, THE JOB
CONDITIONS SHALL CONTROL.

THIS 1S THE MAXIMUM ALLOWABLE
IF JOB CONDITIONS

REVISION DESCRIPTION

NO.

ANCHOR LEGEND
ANCHOR ANCHOR
SYMBOL DESCRIPTION
EH  |STANDARD WIND LOAD ANCHOR '
€D [CORNER WIND LOAD ANCHOR =
A [STANDARD DEAD LOAD ANCHOR = 2*8»‘?)@
& |CORNER DEAD LOAD ANCHOR e L
M [STANDARD T—ANCHOR § 5223’
& [CORNER T-ANCHOR 2| =584
4 [DOOR JAMB U-ANCHOR | ¥OSR
1.4
A [F-ANCHOR (FRAME MEMBER ENDS) 3 359
SEE SHEETS 6—10 FOR DETAILS OF g
ANCHORS 2
il [
=
VERTICAL MEMBER REINFORCEMENT LEGEND g Ed
= REINFORCEMENT PART NUMBER 36 il I
= REINFORCEMENT PART NUMBER 36 & 37 sl z8
= REINFORCEMENT PART NUMBERS 36, 37 & 38 — | Hs.3
= REINFORCEMENT PART NUMBERS 36, 37, 38 & 39| || Wi %‘-’5 i
)
= REINFORCEMENT PART NUMBER 40 o | &% £y
3 =2
SEE PARTS DRAWINGS & PARTS LIST FOR APPLICABLE o | BgBsl
REINFORCEMENT MEMBERS & THEIR DETAIL. S EE £33
& ui
~ [£53 st
= oELE:
Wiy, ¢ |2x8 %
W 17 s |30 ¢
SR X3y, B s
Sy Ly,
S0 "z -
-0 5% ™ L 4% 48 o
=w 2 v O Bs
o . 55 ) 'k E E:é S-\—" D:“r‘;’}
PRODUCT REVISED ==t YT £ &I S I
as complying with the Flotida =% O '(7) ~¢ QS I g 2
Building Cade "o 2 o...% 8 yu— 86
Acceplance No ] ", e = z
I hiset ,I'&b, "Oanni".oQQ \\\ % Fuj
,”If xPR W e <
Mianil Dade Preduct Contro Syt
RSO

NOTE: INFORMATION ON THIS SHEET
1" APPLIES TO ALL ELEVATIONS.




— ANCHOR REQUIREMENTS TABLE (MULTI-SPAN CURTAIN WALL) e, °”533‘.5f’s.3“1
1. WITH EACH APPLICABLE JOB, SHOP DRAWINGS SHALL BE PREPARED AND CERTIFIED BY A LICENSED ENGINEER EXPERIENCED WITH CURTAIN WALL DESIGN. , FLGT, AT
2, THE RESPONSIBLE ENGINEER SHALL DESIGN THE WALL SYSTEM SEPARATELY FOR EACH JOB & CONFIRM THAT ALL CONDITIONS STATED HERE—IN HAVE BEEN OPENING TYPE FRAME/CLIP TO OPENING MINMUM|  MINIMUM {508 |¥ 8570012
CONSIDERED AND ADHERED TO IN THAT DESIGN. (SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST.
3. IN_HIS/HER DESIGN, THE RESPONSIBLE ENGINEER SHALL VERIFY THE INTEGRITY OF ALL CONNECTIONS AND FRAMING MEMBERS & SHALL TAKE FULL RESPONSIBILITY
FOR T}EERT{E»:ITEGRITY oF THEE BSYSTEM DESIGN AS A WHOLE WH:)LE NOT ALLO'_\;V(IJI';% ;I;ET Ec[?rfgn%ans STATED HE$5I—S|NST2 BE Exggglaggé 6\30(\)”;3& SUPPORT REACTIONS F—-PERIMETER ANCHOR SCREWS §
AND VERTICAL FRAMING MEMBER BENDING MOMENTS SHALL NOT EXCEED T A E TABLES ON HEET, REG JOB DESIGN, : 0 0
4. THE CURTAIN WALL DESIGN ENGINEER SHALL CONSIDER ALL APPLICABLE REACTION LOADS IN HIS/HER DESIGN WHILE NOT ALLOWING THE REACTIONS RESUTLING FROM MIN. 1/8" THK A36 STEEL |1/4-14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2
'WIND LOADS TO EXCEED THOSE SPECIFIED IN THE ANCHOR REACTION LOAD TABLE. MIN. 3000 PSI CONCRETE (1} 3/8” CONCRETE SCREW ANCHOR 21/2" | 21/2" ||&
5, THE WORSE CASE OF THE CONDITIONS SPECIFIED IN THIS PRODUCT APPROVAL DRAWING AND THOSE DETERMINED BY THE INDIVIDUAL JOB ENGINEER'S ANALYSIS &
DESIGN SHAIL:L CONTROL AS APPLICABLE FOR THE ACTUAL JOB.ECTO T & U-ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) z
6. REGARDLESS OF JOB DETERMINED MEMBER STRESS & DEFLECTION CONDITIONS, THE FOLLOWING SHALL APPLY: "
A. REINFORCEMENT TYPE R1 MUST BE PLACED BETWEEN SUPPORTS IN ALl VERTICAL INTERMEDIATE FRAME MEMBERS THAT SPAN OVER 114" BETWEEN THEIR 3/8-16 430 SRS OR oR- 5 €S THREAD | gy /e g
SUPPORTS (NOT REQUIRED IF THE UNSUPPORTED SPAN IS 114 OR LESS & THE JOB DESIGN ALLOWS FOR NO REINFORCEMENT), %
B. IF BETWEEN 2 DOOR UNITS, THE VERTICAL FRAMING MEMBER SHALL BE REINFORCED. REINFORCEMENT SHALL BEGIN MAXIMUM 12° UP FROM THE SHL & EXTEND 3/8" GR. 5 CS OR 410 SS 8OLT WITH LOCK . |8
MINIMUM 12” PAST THE DOOR HEAD FRAME. WASHER & NUT FULL 3/4 >
C. ALL VERTICAL INTERMEDITE FRAMING MEMBERS SHALL BE REINFORCED ACROSS ALL INTERMEDIATE DEAD/WIND LOAD ANCHOR LOCATIONS WITH ONE OF THE MIN. 1/4" THK A36 STEEL 5
REINFORCEMENT TYPES R1, R2 OR RS AS SPECIIED IN THE ELEVATION. THIS REIFORCEMENT SHALL EXTEND A MINMUM OF 18" ABOVE & BELOW THE 1/2"~13 300 SS HCMS OR OR. 5 CS THREAD | Fyp. o 2
ORT, g
D. REINFORCEMENT TYPE R4 IS REQUIRED IN ALL VERTICAL CORNER FRAME MEMBERS. IT SHALL BE CONTINUOUS BETWEEN ALL MEMBER SPLICE JOINTS AND FORMING SCREW
EXTEND TO WITHIN 24" OF WALL BASE, 12" OF A SPLICE & 18" OF THE WALL TOP. 1/2" GR. 5 CS OR 410 SS BOLT WITH LOCK | rp) » S
7. REINFORCEMENT IS NOT REQUIRED TO BE CONTINUOUS TOP TO BOTIOM WITHIN THE VERTICAL FRAMING MEMBERS. REINFORCEMENT MAY BE NON~CONTINUOUS, AS WASHER & NUT 1
DETERMINED FOR £ACH JOB, PROVIDING IT MEETS THE MINIMUM GUIDELINES OF THIS DRAWING. . _
8. THIS ELEVATION SHOWS THE 1600 CURTAIN WALL SYSTEM 1 IN A MULTI-STORY APPLICATION. THE NUMBER OF FLOORS WITH WHICH THIS SYSTEM MAY BE USED {2) MIN. 3000 PSI CONCRETE (1) 1/2” CONCRETE SCREW ANCHOR 4" |SEE DETAILS
RANGE FROM TWO(2) TO UNLIMITED WITH THE ONLY RESTRICTIONS BEING THE MAXIMUM SPAN BETWEEN FLOORS/SUPPORTS AND THE MAXIMUM D.L.O. SIZES SPECIFIED. " "
9, SPLICING OF VER)TICAL FRAME MEMBERS MAY OCCUR BETWEEN SUPPORTS AS REQUIRED. LOCATION OF THOS/E SPLICES SHALL BE WHERE A BENDING MOMENT OF (1) 3/8" & 1/2" CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR
Yoy s SoAn LRV \ Shomh ONE DOOR SECTIO OOR SECTIONS MAY OCCUR SIDE-BY S WALL SYSTEM PROVIDING ALL (SALVANIZED STEEL)
, THE MULTI—~SPAN ELEVATION WN SHOWS IGN.  MULTIPLE Di M —HY SIDE IN ONE WA YSTEM b "N "
REQUIREMENTS WITHIN THIS DRAWING ARE MET AND THE JOB DESIGN ALLOWS FOR THE MULTIPLE DOOR CONDITION. (2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF "T” & "U" ANCHORS IS 7" ~ s«
11. ALTHOUGH A DOOR SECTION IS SHOWN, THAT SECTION MAY EXIST WITH OR WITHOUT A DOOR. =] 2o
12. THE ELEVATION HERE—IN SHOWS T—ANCHORS AT THE BASE OF THE WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A WALL IN LIEU OF THE = 2SS,
WIND/DEAD LOAD ANCHORS SHOWN PROVIDING THE SPAN BETWEEN THE T—ANCHORS AND THE BELOW WIND/DEAD LOAD ANCHORS DOES NOT EXCEED 167 1/2" (SAME e S84
SPAN AS AT THE BASE) & THEY ARE INSTALLED THE SAME AS SHOWN AT THE BASE. T—ANCHORS MAY APPLY AT THE TOP END OF A DOOR JAMB FRAME MEMBER. = nz_'ﬂ s
- O |
o | = o S o
= | SEg3
o e
(1) MAXIMUM ALLOWABLE BENDING MOMENTS N ANCHOR REACTION LOAD MAXIMU'MJ Gll_L%\gﬁﬁL%U%ET‘SAI&N W';DLEESSURE Z gagg
— o
VERTICAL FRAMING MEMBERS CAPACITY ( ) AREE
(FOR USE WITH MULTI-SPAN CURTAIN WALL) (MULTI—SPAN CURTAIN WALL) _____ TED-I; RQE(S)Sé ; 9R9 THEEAEIMUM S— O Iﬁ
. A A -—
(3) MAXIMUM ANCHOR ANCHOR (1) MAXIMUM ANY JOB REGARDLESS OF WHAT THE JOB SPECIFIC DESIGN RESULTS = %
@ VERTICAL MEMBER ALLOWABLE SYMBOL DESCRIPTION ALLOWABLE | 108 1S CONSIDERED GUTSIDE THE SGOPE OF TS ABPROVAL. " SFE B
BENDING MOMENT REACTION LOAD "MULnT—gPAN WALL NOTES" ON THIS SHEET FOR ACTUAL JOB DESIGN 8 3
CONDITIONS. e
(POS & NEG) EH |STANDARD WIND LOAD ANCHOR 8980 LBS 2. SEE ALLOWABLE GLASS DESIGN PRESSURE TABLE ON SHEET 1 ol o2
INTERMEDIATE MEMBER WITH NO REINFORCEMENT | 61934 IN-LB €D [CORNER WIND LOAD ANCHOR ) 5087 LB | R RS R RO v S HE - e 2| 28 .
INTERMEDIATE MEMBER WITH REINFORCEMENT "R1”| 84810 IN—LB /A |STANDARD DEAD LOAD ANCHOR 8980 LBS GLASS SHALL COMTROL FOR THE OVERALL SYSTEM. ; ; < Eg
INTERMEDIATE MEMBER WITH REINFORCEMENT "R2" | 115852 IN—LB < |CORNER DEAD LOAD ANCHOR __|(2) 5967 LBS b g:&;rﬁ
— [an] Al
INTERMEDIATE MEMBER WITH REINFORCEMENT "R3” | 133705 IN-LB ; iglNND:RRDT I NACNHC:;R o f;g; 'L'sz o | Ha Egd
» i . w >
INTERMEDIATE MEMBER WITH REINFORCEMENT "R4” | 150418 IN—LB & toor JAMBAU e 751 (b NOTE: INFORMATION ON N Zgé
CORNER MEMBER WITH REINFORCEMENT "RS” (4)141377 IN—-LB THIS SHEET APPLIES TO m E'J 284
NOTES, A |F-ANCHOR (FRAME MEMBER ENDS)| 1131 LBS | |[ELEVATIONS ON SHEET 3 B £33 538
pAl-a N T = P~
(1) THE VALUES IS THIS TABLE ARE APPLICABLE TO THE JOB (1) MAXIMUM_ ALLOWABLE REACTION LOADS SHOWN ONLY. e [Ex5"3
REQUIRED DESIGN OF THE MULTI-SPAN WALL SYSTEM & NEED NOT | |CONSIDER REACTIONS FROM WIND LOADS ONLY & APPLY : Eos B
BE CONSIDERED WITH SINGLE SPAN WALLS. ALL SINGLE SPAN TO BOTH POSITIVE & NEGATIVE WIND DIRECTIONS. IN 5 8=
MEMBER & REINFORCEMENT CONDITIONS SHALL BE AS SPECIFICALLY | |ADDITION TO WIND LOADS, THE CURTAIN WALL DESIGN RUULITT _
SPECIFIED IN THE SINGLE SPAN ELEVATIONS. ENGINEER OF RECORD FOR EACH PROJECT SHALL ALSO M *Hg ’, u}
- CONSIDER OTHER APPLICABLE LOADS SUCH AS, BUT NOcCY T 939,77, o
(2) FOR DESCRIPTIONS OF REINFORCEMENTS, SEE THE "VERTICAL AT v, 4‘, Py = | g
" POSSIBLY NOT LIMITED TO, DEAD LCADS FROM THE -~ ‘o, 40 % o (e
MEMBER REINFORCEMENT LEGEND". CURTAIN WALL WEIGHT ::,Qs ) “, Z.2 ol b3
(3) ALL VALUES ARE BASED ON THE WORSE CASE OF TESTED : SO W & avWz widEN
(2) REACTION LOAD SHOWN FOR THE CORNER ANCHORS -2 pe o 8o
MOMENT AND ALLOWABLE MOMENT. IS THE RESULTANT LOAD IN THE PLANE OF THE MULLION =i I« M Eig 2
. - : ﬂ‘ - e
(4) MOMENT VALUE SHOWN FOR THE CORNER MULLION 1S DUE TO (LOAD FROM BOTH SIDES COMBINED INTO A RESULTANT) - A < 5).. = -
D FROM ‘ 2252 2 GQiQF
THE RESULTANT LOAD IN THE PLANE OF THE MULLION (LOA FOR EITHER SIDE LOAD, THE ALLOWABLE REACTION LOAD PRODUCT REVISED XA S
BOTH SIDES COMBINED INTO A RESULTANT). FOR SINGLE SIDE SHALL NOT EXCEED 4220 LB. FROM EITHER SIDE FOR as complying with the Florida ’:} d’..." ’....& &
LOAD, THE ALLOWABLE MOMENT SHALL NCT EXCEED 70688 IN—-LB. THE WIND & DEAD LOAD ANCHORS NOR 1265 LBS FROM BuiidmgCo;l& Z.d 5;41 "-"; OQ \\\
IN THAT DIRECTION (LOAD VECTOR 45 DEGREES TO MULLION EITHER SIDE FOR THE T—ANCHOR. e o /& 1,,""*.‘"“\ W
ANGLE).

hiami Dade Preduct Contro




—{  VARIES WITH NUMBER OF PANELS |~— VARIES WITH NUMBER OF PANELS —
o || 58 1/2" 58 1/2" _ | » : 58 1/2" 58 1/2" 73 3/4” .
21/2 MAX. MAX. 3 9/16" 39/16" — =— " MA< MA{ =212 |
4" —l—2 1/2" 6 1/4" | 2 1/2" 2 1/2 "
_ 11 it | et 11 =i 4" MAX.
f MAX.D - [ MAX. aenmer . I
T OF T
Z 2 N swport QA 7 H
b P I @I A | 4
| | ! | _
'_....
o%c%z % : S, 'U—)CZ_J : % I A a
AN [ g%é S =2 | ' 4 B |
' . | 28 52 | FOR MAX. | A
L =2 @O D.LO., SEE | 4 R
. " % I ﬂ; 5% h—b.Lo. sizE | _ 7 | PLAN VIEW:
18 | I EZ u¥ Il TBLE ON | <, i AR MULTI-SPAN CURTAIN WALL
MAX. O.C. e =, | SHEET 1 7 74" — 1o
(VP 3 N\ ! 5 b | | TN SCALE: 1/4" = 1'-0
. ><
”; Qyivgg ém | | SEE SPLICE \1V/ [fY
2 P . < b 6%%) 4 G35 p DETAILS ON R TYPICAL
3 1l £ 23 I d| 7o SHEET 13 7 [P .7 AT AL
AT ALL 2 N q z || 4 % [ # . a * MEMBER
HORIZONTAL | | e ENDS
MEMBER b JAMB
ENDS $ I CENTER i @ H H l FRAME d
7 P [ R OE) 4 R O OF I R @ PN Xy & MEMBER
9" _é_’ A7 D H I SUPPORT || & | 7 18" MAX
- = ! ! = -
MAX. = l[ e 7 " : v A r | » , 0.C. (TvP)
B g 1 I g = I T
SIDE JAMB g & m
F*mmm;\\\w w el g5 EQ = INTERMEDIATE ’ ANCHOR_ WHEN
ANCHOR SCREWS FOR ANCHOR | /= gl 2% £@ @ =2z FRAME
: e | &8 , MEMBER y
WHERE SHOWN. SHEETS 6. 7 | wil 2o BE le %Iz | A EXISTS (NOT
SEE "ANCHOR s o ] e =2 He =% g =<=° | — 9" APPLICABLE
REQUIREMENTS I3 Sl £z Ui = AT o MAX.  WITH SINGLE
TABLE” ON SHEET M E ]| & oz | E DOORS)
2 FOR || & gl .o &8 Z | 17 =
REQUIREMENTS. | # |z » 3 28 " E IS l , . © | a 18”
- : I =5 Zc | /: ég 7 It/ MAX. 0.C.
w7 1.7 | Y C3 | 7 VoS "f (TYe.)
—F = ~
i | RT] i ~~ =E ' R | ~x R/ ’
v | | @ | e i
—Lp # \| # 11 # @” ]
Ak " ] L fa
] = p = SINGLE OR DOUBLE 4" _J
MAX. = S & “« @ DOOR UNDER MAX. \\\\\““;(”M;,,
EXTERIOR ELEVATION VIEW "A—A": SEPARATE APPROVAL. sy,
MULTI-SPAN CURTAIN WALL EXTERIOR ELEVATION VIEW "B—B”; SXg G Z
SCALE: 1/4" = 1-0" MULTI—SPAN CURTAIN WALL S8 é" L sawz
. » - :l_ 1 : . :. ﬂ' ,....: ._‘ :
SCALE: 1/4" = 10 PRODUCT REVISED ==y vx B SiZ=
as complying with the Florida - 3O 5 SO
Puilding Code {9 22 v 2 S
Acceptance No . - o '.%Q) S
Z?, () b’/[/, .;; “OQ \\\

Expicitipn Pate
By
Miami Product Contrel

CHECKED BY:
WWS,

DATE:
03/08/12

REVISION DESCRIPTION

NO.

O o
Zro
-85
- T}
G M
w19
A5 <
EQOG,
QF <
OImd'
a9l
E>oo
Hom
O~
Znx
0o
S =

MANUFACTURER

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (S.M.L)

PHONE: 561-744-3424

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418

WING TITLE

& CONSULTING, P.A. (CA 6809)

CONSULTANTS
W. W. SCHAEFER ENGINEERING

¢/ SCHAEFER, P.E.
" NO. 44135

JON Y9201z

CERTIFICATION

=

WARREN

2

“SHEET NO.

3

18




ALLOWABLE DESIGN PRESSURE NOTES APPLICABLE TQ SINGLE—SPAN REINFORCED ANCHOR REQUIREMENTS TABLE il
(SINGLE SPAN REINFORCED CURTAIN WALL) 1. REINFORCEMENT SHALL RUN CONTINUOUS IN INTERMEDIATE AND (SINGLE SPAN REINFORCED CURTAIN WALL) i T
AU TVASOH ALLOWAGLE PRESSURE CORNER VERTICAL MEMBERS & EXTEND TO WITHIN 13 1/2" OF THE OPENING TYPE " FRAME/CUIP TO OPENING MINIMUM| MINMUM |,
WLt | Lo (POS & NEG P59 2 e 1310, UM 10 M e o secovs Rz (SUBSTEAT) FiENe Tiee e |
S(:Z;\IAI)\I Vgi[[\)}T)H AT STANDARD & | AT DOOR JAMB TRANSFERED FROM THE WALL SYSTEW. F—PERIMETER ANCHOR SCREWS
. . : ~ ATION SHOWN SHOWS ONE DOOR SECTION. "
CORNER MULLION MULLION C ? SOLHPLE DOOR SrOTOnEVTION [SHOWN_ SHOWS ONE DOOR SECTION.  |MIN. 16 GA. 50 KS| METAL STUD| _ 1/4—14 GR. 5 SELF TAP/DRILL SCREW FULL /27 ||®
76 1/4 81.0 69.3 SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET MIN. 2X6 WOOD FRAME OR 1/4” DIA. GR. 5 COARSE THREAD ” »
72 85.8 733 CONSIDERED WHEN. DEVERMNNG.ALLOWADLE. DESIGN.PREGSURE. BUGK (MIN. GR. 2 & 6-0.55) SCREW AR IIRAN -
147 68 5/8 90.0 77.0 4. ALTHOUGH A DOOR SECTION IS SHOWN AT A SIDE JAMB, THAT MIN. 1/8" THK A36 STEEL  |1/4-14 OR 20 GR. 5 SFLF TAP/DRILL SCREW| FULL 1/2" &
62 90.0 85.2 EECTCN, MAY EXIST WITH OR WITHOUT A DOOR & THE DOOR MAY MIN. 3000 PSI CONCRETE () 3/8” CONCRETE SCREW ANCHOR 2127 | 2 177 |8
58 90.0 82.6 %ALTE"%PJE][-EA%ESEEESEA%R?%‘:\? ;fggcé"émussg ;'?ETH%ASI%IEZFTH.E T & U-ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) &
| 76 1/4 82.7 70.7 WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY 3/8"-16 430 SS HCMS OR GR. 5 CS THREAD s
72 376 749 ARE INSTALLED THE SAME AS SHOWN AT THE BASE. FORMING SCREW. FULL 3/4 =
144 68 5/8 90.0 /8.6 3/8" GR. 5 €S OR 410 SS BOLT WITH LOCK | ¢\ 3/4" g
62 90.0 86.9 " . WASHER & NUT
= 0.0 550 MIN. 1/4" THK A36 STEEL .
: : D 1/2"-13 300 SS HCMS OR GR. 5 CS THREAD | pyyip 4
76 1/4 90.0 77.1 D FORMING SCREW
72 0.0 81.7 k /] "
132 _ 1/2" GR. 5 CS OR 410 SS BOLT WITH LOCK "
88 578 90.0 85.7 PLAN VIEW WASHER & NUT FULL 1 Y TN
65 90.0 90.0 Chs SINGLE—SPAN REINFORCED CU 2D (2) MIN. 3000 PS| CONCRETE (1) 1/2" CONCRETE SCREW ANCHOR 4 |see oeraisl S| %8
120 76 1/4 90.0 84.8 WALL as complying with the Florida (1) 3/8” & 1/2” CONCRETE SCREWS SHALL BE SIMPSON STRONG-TIE TITAN HD SCREW ANCHOR s %‘89353
72 90.0 89.8 SCALE: 1/4" = 1'=0" BuﬂdingCoﬁIe ‘Z"’ 622 éGALVANIZED STEEL). ~ Lw uma
112 76 1/4 90.0 90.0 oy /é ) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF “T” & "U" ANCHORS IS 7". = 3353'
r -
PRESSURE_TABLE_NOIES: '~ Z| OFg~
1. SEE ELEVATION FOR DIMENSIONING By e : FOR MAX. =58
st e s o o WWOLS g i oto. IO U ,, : | 5ot
2. PRESSURES SHOWN ARE SPECIFIC TO EACH -— N el MAX. AT —=| |— 3 9/16"  |— max. AT —=|-- SEE D.L.O. SIZE N o'\ gzp || 73 3/4" M. 1/2" b 2o
INDVIDUAL MULLION SUPPORT AREA. TABLE ON : ‘ TABLE ON e MAX SIDE JAMB F0O
ALLOWABLE PRESSURE MAY VARY FROM BAY T0 SHEET 1 CORNER " __| CORNER g TABLE ON ' _ 3l gv=
3 9/16 - HEET 1 F—PERIMITER ANCHOR O e
BAY AS DICTATED BY EACH INDIVIDUAL MULLION " ,, /AN SHEET 1 &
CONDITION. 4 | j—2 1/2 O 2 1/2" —Jl— (AN 2 1/2" |- —~}—2 1/2" SCREWS WHERE -5
3. LESSER OF PRESSURES STATED IN THIS [ max. 1 1 SHOWN. SEE "ANCHOR g
I o G A TR SRE, AS b = REQUIREMENTS TABLE” G s
: , SHALL CONTROL AS T -
ALLOWABLE FOR THE WALL ASSEMBLY. JAMB \EED H R @ @ ] (]. I F.J H H HEE ON THIS SHEET FOR E
4. LESSER PRESSURE AT DOOR MULLION IS Ve K\ Z | % 7 JAME REQUIREMENTS
DUE TO THE DOOR JAMB U-ANCHOR HAVING A N FRAME ~ INEY (g R | INTERMEDIATE FRAME A ' 3
LESSER, CAPACITY THAN' THAT OF THE MEMBER W Z e oMbE FRAME | MEMBER 21 28
' ) 05>, :% S0% : MemBER—" @1 _~TYPICAL AT ALL 21 BS ¢
o _ FOR END Swng [F sP | »*" HORIZONTAL o | 282,
MAX. ANCHOR T, o< I W =35 | MEMBER ENDS & O ¢ %
TYPICAL AT ALL =<~ P | INTERMEDIATE FRAME DETAILS, SEE %J g % > | s =0 — | o E< ;L.'.‘.?
—_ [N} @
HORIZONTAL | MEMBER | SHEETS 6, 7.1 SEEZ 1€ shd | @_ ADD 1 EXTRA | ™ 58
MEMBER ENDS—/ 18 MAX. 0.C. (TYP) ErEe I8 = Lo ANCHOR WHEN - | BEi5s
SIDE JAMB F—PERIMITER T x20h |IE\I3 l # | 22y . DOUBLE DOOR » 4F & s
ANCHOR SCREWS WHERE _1 SRt 8 | N EXISTS (NOT N IEEN T
SHOWN. ~SEE "ANCHOR W N w=do A 3/ R © O] REQUIRED WITH F~ [c92 82e
REQUIREMENTS TABLE” ON e | N S8 N7 4 N SINGLE DOORS) e =82
THIS SHEET FOR i 5 |l ' | | 58! g 3=«
REQUIREMENTS, T : : @ | ST
I A\ ]
J— p ! \§ @ Vi 1 & Z \\\\\Q‘e?‘ + 3’3’/ )
N : I al l | | \\ @ ‘..000... & /’ od
N ,0' . = T
4 @) @ S q G ] s STe B \\ B
MAX. 1/2 1/2 1/2 1/2 MAX. " S D uw A%ES &
~| LoD = LOAD WIDTH— LowD |- —{ LOAD |=— LOAD WIDTH —=~{=~— LOAD WIDTH —={=— LOAD WIDTH —={ LOAD |— Sx i § o 2 -
WIDTH WIDTH =32 = g
NOTE: INFORMATION ON \_vewser-/ AR
THIS SHEET APPLIES TO|  ciNTERINE cemiENE ,  cEnreny EDCE OLO. OLO. L0, D00R  MEBER  Z¥paF U LSS g
ELEVATIONS ON THIS CENTERLINE CENTERLINE i CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE %6’5,.‘0.-......-"?@‘?@' =
» »
SHEET ONLY 7 EXTERIOR ELEVATION VIEW "C-C"; EXTERIOR ELEVATION VIEW "D—D": ';,gi * R?\\\\\ S
bkl SINGLE—SPAN REINFORCED CURTAIN WALL SINGLE—SPAN REINFORCED CURTAIN WAL THrmw 1790
SCALE: 1/4" = 1'-0" SCALE: 1/4" = 1’0" 4 o 18




ALLOWABLE DESIGN PRESSURE ) ) FOR MAX. .
GL FOR MAX. D.L.O., 58 1/2 58 1/2 FOR MAX. D.L.O., D.LO. SEE R BATE:
. (SINGLE SPAN .- SEE D.L.O. SIZE __[le— ax. AT 3 9/16" — le— MAX. AT —= | SEE D.LO. SIZE || """ gop |l 73 3/4 —2 1/2" L
NON—REINFORCED CURTAIN TABLE ON CORNER CORNER TABLE ON TABLE ON MAX.
WALL) " ) n @ n » SHEET 1 X » JAMB ADD 1 EXTRA
4 —il—2 1/2 —| |~ 3 9/16 2 1/2" —{|l— AT\ 2 1/2" —|{|— —{le—2 1/2" FRAME ANCHOR WHEN
MULLON | LonD | PRESSURE LW = o : e e
- 7 - 7 F M EXISTS (NOT
SPAN | WIDTH | (POS & NEG 8 (EIEI2 Db | ®lfd ) diE H Gy, LJBA . Reoue W
(N.) IN.) PSF) — 1 | A A= 4 5
. (IN. OPPOSITE /\ = K < |___:: D1 }MAX SINGLE DOORS) E
75 1/4 =5 /TN » 7N # Al s ¢ ’ |~ INTERMEDIATE ——— T 77x, o : &
VAR Qo= Qoo & FRAME MEMBER /TN a7 1% AN | AN g
72 76.2 | I T IT~{Rr5] - - " TYPICAL AT ||
14 56 532 il FOREND |l w  |I% S¥E NS o NZJTSNGLE R ATZATLS o Al .
- 18" MAX. O.C. (TYP.} 1| [ANcHOR |2 = @ Sp @ %=z P DOUBLE DOOR 1 | 1 HORIZONTAL |12
B1 90.0 o | = [ =T 7| £= # I} /UNDER SEPARATE MAX. 0.C. %
9" ] DETAILS, SEE {¥ | i 1= s¥ i | oV kg (TYP.) MEMBER &
76 1/4 76.0 o E=— SHEETS 6, 7|, g " %Xz o 5 | APPROVAL. ' ENDS ,
108 72 80.5 M e wf[logto” oz 3 25|, 4 IS R i g
66 87.8 " FRAME |l = IEE o 14 ~ b\ SIDE_JAMB
INTERMEDIATE] . o & b & | ||
64 90.0 n| MEMBER FRaAME g: h :5 N N i \y || iﬁgEISJIyITER
76 1/4 80.5 | MEMBER—\ N T g. | I y O | i % |
\11/ 4 11 % # — — -
102 72 85.2 t ) R4 | 9 ' ‘ 12 g g 7 I} ik | S Eﬁgﬁﬁs WSHEEERE
68 90.0 4] 1 ” "ANCHOR ~| S
1/2 8 172 | ") 1/5_4] B "] & 1/2 4 =l 2ES
96 76 1/4 855 MAX. ot |0AD  |~— LOAD WIDTH —| 10AD |— —{ LOAD [~ LOAD WIDTH —=|=— LOAD WIDTH ——~—— LOAD WIDTH —~|  LOAD MAX. REQUREMENTS 1 = | — 38,
72 90.0 WIDT TABLE” ON THIS || @ SEadrs
H WIDTH \ /Wt WIDTH SHEET FOR 2 o
__%0 76 1/4 90.0 (MEMBER - DLO. D.LO. VEVBER D.LO. D.L.O. D.L.O. DOOR  MEMBER requirenents. || 4 | S8
NOTES: NTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE CENTERLINE =] 88 .2
1. SEE ELEVATION FOR DIMENSIONING OF LOAD WIDTH. CE o
b RTINS SRS & s EXTERIOR ELEVATION VIEW "E—E” EXTERIOR ELEVATION VIEW "F—F”: w10 ool = | mE41
PRESSURE MAY VARY FROM BAY T0 BAY AS DICTATED SINGLE—SPAN NON—REINFORCED CURTAIN WALL SINGLE—SPAN NON—REINFORCED CURTAIN WALL OR METAL STUD || < Q;—"ék
5 LESSin OF PRESSURes STeD i T mee WITH CONTINUOUS SIDE JAMB FRAME F—ANCHOR WITH CONTINUOUS SIDE JAMB FRAME F—ANCHOR SUBSTRATES) 5 382
H RESSURE, AS SHOW N . T = 1" . "= 1"
SHEET ;:SESI-gﬂ.L CONTROL AS ALLOWABLE FOR THE SCALE: 1/4 -0 SCALE: 1/4" = 1'-0 - |2
WALL ASSEMBLY. " — —
SEE "FREE SPAN JAMB JAMB 1. THERE IS NO LIMIT O THE NUMBER OF SECTIONS HORIZONTALLY PROVIDING THE OPENING IS DESIGNED || = 5
PERIMETER SEALANT NOTE” FRAME TO SUPPORT THE LOADS TRANSFERED FROM THE WALL SYSTEM. [T |
ON SHEET 1 A MEMBER A 2, THE SINGLE-SPAN ELEVATION SHOWN SHOWS OME DOOR SECTION. MULTIPLE DOOR SECTIONS MAY Il E
) S _\\ OCCUR SIDE-BY SIDE IN ONE WALL SYSTEM PROVIDING ALL REQUIREMENTS WITHIN THIS DRAWING ARE MET g 3
& PROPER LOAD WIDTH (DISTANCE BETWEEN DOOR CENTERS) IS CONSIDERED WHEN DETERMINING
ANCHOR REQUIREMENTS TABLE gLngﬁ%fGSEEI%%OZR’é%%FgN IS SHOWN AT A SIDE JAMB )THAT SECTION MAY EXIST WITH OR WITHOUT A 8 %g
(SINGLE SPAN NON—REINFORCED CURTAIN WALL) OPPOSITE DOOR & THE DOOR MAY EXIST IN ANY BAY. ' 8| #6
@ 4. THE ELEVATION HERE~IN SHOWS T—ANCHORS AT THE BASE OF THE WALL ONLY. THESE ANCHORS MAY - H g
OPENING TYPE FRAM{E/&LEIEEEO nggNlNG MEF:IAIQAEUDM EgﬁgélMéill‘SﬂT QU™ ALSO BE USED AT THE TOP OF A WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDNG THEY ARE || o zé ER
A . ME AS SHOWN AT ASE. O o
(SUBSTRATE) 5. REGARDLESS OF FRAME HEIGHT, CORMER FRAME MEMBER MUST BE REINFORCED. REINFORCEMENT SHALL g %< gﬁf:?
SIDE JAMB F—ANCHOR SCREWS gg RUN CONTINUOUS & EXTEND TO WITHIN 13 1/2" OF THE FRAME MEMBER ENDS. . Lt 'gg‘;\
MIN. 16 GA. 50 KSI METAL STUD}  1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL [ 1/2 oo O SRAME MEMBERS MAY BE SUPPORTED EMTHER BY A CONTINUOUS SIDE JAMB F-PERMITER ©| By 8%51
MIN. 2X6 WOOD FRAME OR t/4" DIA. GR. 5 COARSE THREAD ” R 7. IF BETWEEN 2 DOOR UNITS, THE VERTICAL FRAMING MEMBER SHALL BE REINFORCED. ~REINFORCEMENT » Z o
BUCK (MIN. GR. 2 & G=0.55) SCREW 11/4 3/4 w8 SHALL BEGIN MAXIMUM 12" UP FROM THE SILL & EXTEND MUY 12° FI:;E‘I}'“;HE DOOR HEAD FRAME. R gg 9%
2 £ (=]
MIN. 1/8" THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2" ;@ﬁﬁﬂ i complying with the Florida m ,%“’2 E;E
MIN. 3000 PSI CONCRETE () 3/8" CONCRETE SCREW ANCHOR 21/ 2 /2 E Accoptanca No |2"Oé§02.06 = |3=8 2
T, F & U-ANCHOR SCREWS/BOLTS (VERTICAL MEMBER ENDS) 4 = E— lwm /é\“mm Sz
3/8"-16 430 SS HCMS OR GR. 5 CS THREAD | r 3/4” PLAN VIEW; By —_{d« 3 D f(?—“ i
ING S A ol WGt ConttoP N & e w
N, 174 THR AS6 STEEL o e SINOLE OR DOUBLE _X ¢ SINGLE—SPAN NON—RERIFBREER R i
. ] & 14
WASHER & NUT FULL 3/4 DOOR UNDER CURTAIN_WALL =% 2 2 gg
. »o_ Lt : . 1 o
MIN. 1/8” THK A36 STEEL | 1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 12" SEPARATE APPROVAL. SCALE: 1/4" = 1'-0 == 15 3 )
ERNATE SIDE JAMB FRAME CONDIT F | } F2232 g &
(2) MIN. 3000 PSI CONCRETE (1) 3/8" CONCRETE SCREW ANCHOR 3 1/4 [ste poans| AL JAMB FRAME |ON 2z S iy
MIN. 2X6 WOOD FRAME OR 5/16" DIA. GR. 5 COARSE V| 3 (SUPPORTED BY END F—ANCHORS VS. l\ v
BUCK (MIN. GR. 3 & 6=0.55) THREAD_SCREW CONTINUOUS SIDE_F~ANCHORS) i~ '
MIN. 16 GA. 50 KSI METAL STUD|  1/4-14 GR. 5 SELF TAP/DRILL SCREW | FULL /2 SCALE: 1/4" = 1'—0" ' X
(1) g{ggL)CONCRErE SCREWS SHALL BE SMPSON STRONG-TIE TITAN HD SCREW ANCHOR (GALVANIZED Sll:‘LTg?SN%LIEOIyTS sii?‘ﬂ'“g ATJA[E\E AAF?ILTYEIT_CE)V#EIOSNS NOTE: INFORMATION ON THIS
(2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT ‘OF "T”, "F"" & ANCHORS 1S"5 " 1/2". " SIDE JAMB CONDITION, = 7™ = - 3HNE%[" ISAPISDI-IEEEST ?N'L%LEVAHONS“




DRAWN BY:
W.W.S.

CHECKED
WS,

av: ||

[ [ PLOT: DATE: :
SUPPORTING SUPPORTING - s "o5maa
1/2-13 X 4 1/2" / STEFL 1/2-13 X 4 1/2" /_ STEEL TN\ SUPPORTING STEEL
HEX HEAD BOLT & SUBSTRATE HEX HEAD BOLT & SUBSTRATE - SUBSTRATE BY - g
FLAT WASHER @ BY OTHERS  FLAT WASHER @ BY OTHERS OTHERS 3
06 .\ 06 XW.\ . 1y f i
o / e o [ cz>
i NN | i N b\ RN o q %
| g | 5T o - @ (EFTR) @) B
o) | fo STEEL STEEL @] B
—~ REINFORCEMENT \ REINFORCEMENT .
/‘%’ ./ AS REQ'D /%ﬁ ’/ AS REQ'D N L/ g
1/2-13 LOCK NUT ® 1/2-13 LOCK NUT O N
& FLAT WASHER & FLAT WASHER N
| [é"/_' =)
| | — — - —~| O«
SUPPORTING =l = = | £33
1.1/2" MIN. ; 11/2" MIN. 1.1/2" MIN. L1 1/2" MIN. STEEL SUBSTRATE = 28,‘«%@
IRyeT : BY OTHERS ~
iV |\ AT 7 Sy s
=m0
A | A , _ 117210 2 38 .§
| TOP OF SLOT T =1 Ay
] & I 1/4 6 ] 5
! | ! | i z | Bagr
- < W™~ Ge
= =5
2 1/4" l—__7/|(_® 2 1/4" === % £39
” » I I ﬁ
IR EEZEE | B : ; g
| 1/4"T  MIN. 3
1 a/20) ! | | TN Il\ V E§
/21 L #9/16” THRU HOLES AT 12 o ~9/16" X 3" SLOT IN ANGLE TO L L il B
} | ANGLE AND MULLION TO (7 || ACCEPT BOLTS. SLOT POSITION g 3
| | L | ACCEPT BOLTS 1\ | SHALL BE ALIGNED AND CENTERED >
" I " VERTICALLY WITH BOLTS UPON 81 28
21/4°| | P M SUPPORTING 21/4" | | | INSTALLATION. °| g°
| Lol Saoate | [ Yo o] SUPPORTING STEEL o | B33,
) ; SUBSTRATE BY OTHERS Wl 87g.§
L 1 1/27T0 © :m 55%
/43" BOTTOM OF SLOT 1 /4"| /3 \ / Z Mg 233
/I\ STANDARD DEAD LOAD ANCHOR FH STANDARD WIND LOAD ANCHOR el s [,2 | 25 By
SCALE: 1/3 FULL SCALE: 1/3 FULL = |63 382
ALTERNATE WELD DETAIL FOR WIND & DEAD 2 g;.% N3
LOAD ANCHORS = |3Z° ©
NOTE: ALL 1/2” BOLTS SCALE: 1/3 FULL B S
CONNECTING ANGLES TO \WWHIEHy, u}
\\\ X l[, o
MULLIONS SHALL BE GRADE SHCER, X by 20
5 STEEL OR 300 SERIES 3‘2} -"..:n "'-.,./ (2 o~ hé“&
STAINLESS STEEL. SS 8 sARE\\ 8%
=iz Qs [ 5| -
Sodum Ix pEiEE 4
=330 . < Of|mi= —NE
PRODUCT REVISED 222 2 LEPS
as complying with the Florida 20N < S~ = g
(3 GQ, S = =

A

iy f/ ., "
r!il;gg;lt?ngeogfo IZ‘. 06/22. Oé ‘:’6’6’& *tespear®” Q$ N

epta N QOF ™ DRAWNG NO. [REV.
7 s (4 ‘
o e Kt A T
L} . ,
Miami Dade Product Contro 6 o 18




CHECKED BY:
WS

DATE:
03/08/12

1/2-13 X 4 1/2"
HEX HEAD BOLT &

FLAT WASHER M\ /
A SUPPORTING
“ STEEL
. SUBSTRATE 5~
G BY OTHERS
P D
EXTERIOR 4 /% ® /
1/2~13 LOCK NUT

& FLAT WASHER

1/2-13 X 4 1/2"
HEX HEAD BOLT &

P
SUPPORTING
D STEEL
SUBSTRATE
RS N A\ BY OTHERS
\7 i (i
1/2-13 LOCK NUT/%;

& FLAT WASHER

F ol N
b=
L aam g

E—UQJ”:@

1.1/2" MIN. 1 1/2" MIN. N 1.1/2" MIN, 1.1/2" MIN. g 2%%
I SUPPORTING I SUPPORTING P Tty
| STEEL SUBSTRATE sreeL sopstrate | 2| 208
A | Ve / BY OTHERS v i 1/ / oY OHERS = %853
l | | o&y3
| | l | * z 5%%2
2" T0 < | WOSR
2 3/4” : : : 2 3/4" | I : TOP OF SLOT 'g g@g
[ L | P e E— L ! el
| | | 1747 MIN, 3" i B - I5
1 , I | : % : @ : | | : C /47, N, 3 = [o
11/2] | ; :I - 1172 o K - E%’
i | I )] h =
| o a4 g| <8
2 347 | ! 99/16” THRU HOLES 2 347 | | : : | 9/16" x 3" SLoTIN f| 2 | S =
B AT ANGLE PLATE AND 4 o ANGLE PLATE TO o, | £8¢7,
| MULLION TO ACCEPT | ACCEPT BoLTS. sLoT| & | &7 8.8
! BOLTS : POSITION SHALL BE || © | &< o1
| () | éiEIJ\CI;PEED AND 6 5“; 28
S— RED VERTICALLY || «— O oes
Vv | 1/4°| /3" 4 R l 1/4",/3" | WITH BOLTS UPON > gf‘:’ ,,EEE
<D cornEr DEAD LoAD ANCHOR —- \ ~ BOTIOM OF SLOT —— INSTALLATION. |33 sis
SCALE: 1/3 FULL @ - gmg %E
CORNER WIND LOAD ANCHOR £ @2.0 &
NOTE: ALL 1/2’-'_BOLTS SCALE: 1/3 FULL ) oxd
CONNECTING ANGLES TO \\\\\“';'L":,,, ;u:
MULLIONS SHALL BE GRADE SR Fyy 7, S
5 STEEL OR 300 SERIES S WG by
STAINLESS STEEL. 28 T 6 gt 25
= _dm o« % B g‘:;' 3 ;z
FOR ALTERNATE WELDING OF PRODUCT REVISED EA IR I
ANGLES TO SUBSTRATE, SEE gsu:;gggsggg;ﬂ""hﬂ*mma e g
"ALTERNATE WELD DETAIL” %Pé’ “ &5'44“%9?9\\ | —r
ON SHEET 6. 2 AN
o SHEET NO.

Miami Dade Product ool



DRAWN BY: CHECKED BY: 1
v —(3)4) . » . 41/2" " 1" 41/2" 1” wes | wes
1 6 1/2 1 » —] - . .
I 1 / T M. MIN. 17 MIN. | MIN. ’_’i"* MIN. 4"_’ MIN. 7% P02
|

|
| ' Il ! ~—(27) 374" WIN.
; J i I * 2 7/16" T-AGHOR ) 7;15" @) / T @ @ DN E
. A l w “ I A ; 8" m T-ANCHOR ) - T-ANCHOR
@) — g L g 1/2” £ +_ - \ 4 7/8"+_*ﬂ - @ T 4 7/8 zmﬁré4 5
T—ANGHOR ! gL !I! ! MAX. F‘l 2 7{16 J 2 7/1 6" l L @ @ ]
1 T—-ANCHOR - T1/2” CONCRETE SCREW—" =23 (] 6" MIN. + 7 T 3/4fMIN' il %
IFEEEE‘EVL/EE\%,TON | PER "ANCHOR g 7 oo D!STANCE/T SCREW T A * 3/8" SCREW/ % 7 s
REQUIREMENTS TABLE" [EXTERIOR] CONCRETE. EOGE OR BOLT OR BOLT ;
SUBSTRATE BY 2 / e "ANCHOR SECTION ”B""B" (INTO STEEL) "ANCHOR SECTION ”C_C” u:
OTHERS PER SECTION "A—A" (INTO CONCRETE REQUIREMENTS SCALE: 1/4 FULL REQUIREMENTS  (ALTERNATE INTO STEEL |E
ESTANDARD T—ANCHOR R/\E%%ngMENTS SCALE: 1/4 FULL TABLE TABLE SCALE: 1/4 FULL
SCALE: 1/4 FULL TABLE” 1" 6 1/2" 1”
" 41/2" "
T —® * —— /@@m 1" MIN. MIN. 1" MIN. ] 41727 | " ,
1l [t 2 7/16" /1/2” * iMIN. MIN. | MIN. ~1 29
CONCRETE ] ] 258
* H H * 4 7/8" | A B N SCREW PER 2 7/1¢" T-ANGHOR 3/4" MIN. @ é 2‘85’;@
D f W D ! AEIRS-T(ER 4 778" @l _ A | ’ [t Y -3 F o
E)— E L E 1/2" 2 7/18" REQUIREMENTS | 7*/16,, h 4 4 7/8" 2,;,’44] £| 82,3
T—ANCHOR ”! !H MAX. ‘I ‘ il A A TABLE” | . = ﬁ%gé
f—t 6” MIN, (A 8" MIN. B} |1 J_ . @ < | 2 o~
i | T—ANCHOR l T EDGE DISTANCE EDGE DISTANCE . / 0 3/4” MiN. _ k| 8%
1/2" SCREW al &v=
I/ SCREW/BOLT R Bolt ) } o [
per eLevation— I PER 3/8" SCREW all
\l GRS "ANCHOR A =g
l SUBSTRATE BY Nk ¥/ REQUIREMENTS S "ANCHOR g £
OTHERS PER DL TABLE REQUIREMENTS =
@CORNER T—ANCHOR oo ReuenTs TABLE 3| £8
SCALE: 1/4 FULL TABLE” SECTION "E—E” (INTO STEFL . | s Eg
wy o SCALE: 1/4 FULL b 555 s
SECTION =D (INTO_CONCRETE) ,, (ALTERNATE _INTO STEEL) o | 63 gy
SCALE: 1/4 FULL 3/8 SCREW OR SCALE: 1/4 FULL 7 x ., 3uT
- _ » . -— Ll ¢y OF ~
Y 1/2" CONCRETE sore e > 5| BEe
i it AR - THIS SHEET IS DEDICATED| L2 |, 22553
» i P~ o5
* || I * TABLE ~ —/u-avgor | TO MULTI-SPAN & 0 gg'é '%
G | i G ) = |27° °
H ol I H f ] 1 3/8" MIN. REINFORCED g a=a
29 L 6 a7 s Y @< , SINGLE-SPAN ANCHOR
= L ['7"™  |CONDITIONS S
f = _ .‘\\\\"'l”lu| =
I | U—ANCHOR = 5 5 r X 8354, %
f SCREW/BOLT — j 3/4” MIN. s\zg- 4,’(9
PER ELEVATION == 4 3/8" MN. ] = SO & 3, 2
I —— SUBSTRATE BY ) EDGE DISTANCE [EXTERIOR] ~ P T oot
OTHERS PER CONCRETE " " it s i == 23 <+ * B &g
ARG EDGE O SECTION "H-H" (INTO STEEL Z0022.0025 5 ES
$ REQUIREMENTS SCALE: 1/4 FULL AN LTI 25 Z 9GS
DOOR JAMB U—ANCHOR TABLE SECTION "G—G" (INTO CONCRETE) s S 8 e D

D . X
| . ) 7 % OV N siEeT o
SCALE: 1/4 FULL : LL ithes g % \ " :
/ SCALE 1/4 FU il L A PR MR R 'fl’ *P“‘\\\\ 8 oF 18




DRAWN BY:
WS,

CHECKED BY:
W.W.S.

"PLOT:
. i=m

4

DATE:
03/08/12

DATE

BY

REVISICN DESCRIPTION

NOQ.|

INTC METAL

STUD OR
5/16"

SCREW INTO (INTO M
WOOD PER

"ANCHOR

EXTERIOR

SECTION "M—M"

A\ F-ANCHOR (FRAME MEMBER ENDS)

SECTION "N—N" (INTO CONCRETE)

ETAL. STUD OR WOOD)

REQUIREMENTS

TABLE"

31/2

SCALE: 1/4 FULL

SCALE: 1/4 FULL

SCALE: 1/4 FULL

THIS SHEET IS DEDICATED
TO NON—-REINFORCED
SINGLE—-SPAN ANCHOR
CONDITIONS

1 ] o
3/47 MIN. 3/47 MIN.
F—ANCHOR | F—ANCHOR 1 3/8"
2 3/4" » MIN. N
I | v, 4 7/8 @ @ _47/8
1 3/8
1 MIN.
3/4" MIN. iU 3/47 MIN.
=l 1/4" SCREW PER 1/4" SCREW PER

EXTERIOR

SECTION "P—P”

"ANCHOR REQUIREMENTS

TABLE”

(ALTERNATE INTO STEEL)

SCALE: 1/4 FULL

SECTION "Q—Q"

"ANCHOR REQUIREMENTS

TABLE"

(INTO METAL_STUD OR_WOOD)

SCALE: 1/4 FULL

PRODUCT REVISED
as complying with the Fiorida

Buflding Code ‘2-0622-06

/}ccepte_mce No

Exp W BB 122 (2010
I\%é'mi Bade Product_"(?cfr?ﬁ;i

T . » » 4 1/2" " " ”
1 6 1/2 1 " /2 » 1" ] 4 1/2 | 1
| ‘ LI 4 17 MIN. MIN. 1" MIN. | M MIN. ] MIN.
. H H 2 7i/16 3/MN. [
. J I w “ I J T-ANGHOR T—ANCHOR | T-ANCHOR
K , K 4 7/8"+— ~ —— "2 3/4"
Lo L, B _ RS
T-ANCHOR M ”! E” M MAX. _‘ 2 7/16° -
A\  — ] | | 5” MIN. 3/ MN. [ ﬁ é
F oo i 1 378" concrere screw et ‘ EDGE DISTANCE i 3 ey
{ SCREW /BOLT i PER "ANCHOR i 3/8" SCREW— R 7 1/4" SCREW R i
PER ELEVATION REQUIREMENTS EXTERIOR OR BOLT
‘\I TABLE" ~ QAF?\JCELOOL; PER EXTERIOR PLR
L] ”
SUBSTRATE BY CONCRETE EDGE ReQUIREMENTS SECTION "K—K” (INTO STEFL) "ANCHOR SECTION "L—-L_
OTHERS PER SECTION "J—J” (INTO CONCRETE)  TABLE SCALE: 1/4 FULL REQUIREMENTS (AL TERNATE INTO STEFL)
M STANDARD T—ANCHOR O T SCALE: 1/4 FULL 3 1/2° MN. | L TABLE SCALE: 1/4 FULL
SCALE: 1/4 FULL TABLE” —]—I—\[L——n EDGE DISTANCE (~_ —~ 3 1/2" 3 1/2 .
. . ; L I
11/2 4 1/4 11/2 ‘ ‘ .
/ 1 | F_ AR 2 7/16 ’ 7;16.,
5/8" — . 5/8" NI | BN F~ANCHOR {4 778" FrAEoR
| 0 IIW W: 0 SCREW /BOLT - i it 1 4 7/8"
; PER ELEVATION -
3/4” MN. | & /2B |Il ”] R 2.7/18 2 7/16"
f : = }!I F—ANCHOR sl * *
2 3/4 = 5" MIN. ——3/8" CONCRETE 3 N a"
4 7/8 MIN. 1 5 EDGE DISTANCE SCREW PER = Ség .,lfﬁgﬁ\gROR BOLT
@ I SroneAte BY AN J REQUIREMENTS EXTERIOR] REQUIREMENTS TABLE”
P s 1 1 ANCHOR N oncrere TABLE” SECTION "0—0" (INTO STEEL
L = ! &) REQUIREMENTS EDOES SCALE: 1/4 FULL
1/4" SCREW R 7 TABLE”

MANUFACTURER

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (S.M..)

DRAWING FITLI

CONSULTANTS

KAWNEER COMPANY, INC.

555 GUTHRIDGE COURT

NORCROSS, GA 30092
770—449-5555

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744—-3424

W. W. SCHAEFER ENGINEERING
& CONSULTING, PA. (CA 6809)

) /s
A ...tﬁi?/y"
S8 oy 4,
SWiE g u F
= <X 3]
=20 5 B
?o¢ ..‘) 4 .'..6
’f"\)}&d:..'o. o .Q@ o
6"!;544 ¥ P?‘o\\\\\
T

EN W. SCHAEFER, P.E.
P.E. NO. 44135

1 9201

WARJ




CHECKED BY:

1 12 6 1 /2” 1 ” DATE\:J.W.S.
” 4 1/27 1" MIN 03/09/12
TV If/—® i T-ANCHOR 1 MIN. MIN. ) 1" L4127 | 1"
¥ i ) /—3/8” I | MIN. ’ . MIN,
BT ¥ 27/16 CONCRETE m .
Lo e L@ @l s | 277 oaes [ 37 W &
D I w “ ' D ' A[;\IRCAI:AOER 4 7 /8' * m . T—-ANCHOR
E b Il E . 2 7/16" t 4 7/8 2 3/4" 3
T-ANCHOR b il MAX. _i t 5 " TABLE | g
JE 1T 5" MIN. 5" MIN, = @ o
| pp—— i T EDGE DISTANCE i EDGE DISTANCE e sorent m 3/4” MIN. ) 2
{ SCREW/BOLT 38 SCRE \ g
PER ELEVATION I PER ;é; SCREW
I _\I AN "ANCHOR "ANCHOR :
SUBSTRATE BY REQUIREMENTS (3 REQUIREMENTS
G OTHERS PER EXTERIOR TABLE TABLE"
_ [EXTERIOR]
COE?E; ;f 4APIU(£LHOR REQUIREMENTS CONCRETE
Y TABLE EDGES SECTION “X—X"_(INTO STEFL) ~| ges
Yy SCALE: 1/4 FULL =| 58
CYTER 1Tl S. O
SECTION "W_W" (INTO_CONCRETE) (ALTERNATE INTO STEEL) a| gom8
T W SCALE: 1/4 FULL r 3/4" SCALE: 1/4 FULL 4| E8s7
=] 5z .9
? “ H ? 3/8" CONCRETE——" 3 1/2” MIN. | | = 0:’1_‘%?’{
SCREW PER EDGE DISTANCE | ! 3/4 z| bBzgge
U 3 ! u "ANCHOR _ 29 [~ { 2| 298k
v I I v . 4 3/4"REQUIREMENTS (53 | u-agor 3 1/47 3/8" CONCRETE——" k| £38
@ | 1/2 TABLE” SCREW PER f © I 2wz
U-AGHOR SN I MAX. —i , ANCHOR g 29 " - B
! — 4 3/4" REQUIREMENTS | uaor 3 1/4 s G
f < TABLE” B s
I - U—ANCHOR = — [ 37/8 uN. — E 2
l/ ;ERRE\EVL/EE\%ITON EDGE DISTANCE = ol o2
CONCRETE - ., o| 22
——~ SUBSTRATE BY ? EDGE~ ? - SGE/S.STXL?EE - 5; E
OTHERS PER E o | Us:
"ANCHOR ne  o» |___—CONCRETE by 37k 8
REQUIREMENTS SECTION S-S EDGES—, 0 8| &< 257
DOOR JAMB U—ANCHOR TABLE INTO_CONCRETE AT N n:°‘_§§§,
SCALE: 1/4 FULL /4" screw per  \MIERMEDIATE_MEMBER) SECTION "T-T" T | B2 53
3/8" SCREW OR ANCHOR SCALE: 1/4 FULL INTO CONCRETE AT » Egﬁ 5y
BOLT PER "ANCHOR REQUIREMENTS 29) 172" PERIMETER SIDE JAMB MEMBER FS g2 Rs
REQUIREMENTS r 3/4" MIN TABLE U-ARCHOR [ SCALE: 1/4 FULL = 228 &
TABLE" ' Y7 \i g gz
_ IR I [ » Witbiy, -
_ i ! 1.1/4 THIS SHEET IS DEDICATED Q‘\\;\%’?‘ f.Hgé;,’/,& .
4 3/ = U-ANCHOR [ 1 3/8" MIN. 4 3/4 @ o — 1 1/4 TO NON—REI N FORCED §§Q’_."°:o ‘.°"°.%'; N &8
6 3 . i » [ ... m [P A‘... a‘ A 5 -
|1 3/8" MIN. O — | —' 174 |SINGLE—-SPAN ANCHOR S o N ?E oy a8 Egi
% 7 ;o s :: - Em ¢ z. v
ares CONDITIONS 22 5 ESIE iy g
- = Ve 2208 PES
K 2 = 25 ", oSS
= | < /am PRODUCT REVISED KRR, S :
- 3/4" MIN. EXTERIOR D gsgﬁlmplsgz% wilh the Fiorida "’/,gb‘/},, _kp%ot\\\é
| l L), (+}
| EXTERIOR | ' SECTION "v-V" Q;cgptaﬁwemo l %,%6 'ilnnn\\\‘ W‘r} ?QONOI R
” ]
SECTION "U-U" (INTQ STEEL) (INTO METAL STUD -QR _WOOD) . SHEET No.
SCALE: 1/4 FULL SCALE: 1/4 FULL Migii Dade Pradoe Corind 10 or 18




— — o DRAWN BY: |CHEGKED BY: "
SUBSTRATE SUBSTRATE /2" % o
BY OTHERS BY OTHERS e [ayoosz

Lsﬁﬁ’é'g SEE GLAZING
- DETAILS ON i
SEALANT SEALANT ~t / =
o [ .\ 5|t SHEET 15 @
OTHERS OTHERS , ] = B
65 - - f 85/16" NIt
. @—\ WEEP HOLE "
EXTERIOR EO?,%E'P %
»” m
o 1/2 ®\ FROM /_@ S
E’ MAX. @ \a ®)\.\ J ENDS — | 65 | g
' ; SPACE 3] = : ) SEALANT g
O O Oi 103 b » s = g
@~ | d | v BY \. .
= [“]N-sEE cLAzZING \_®® A SEE GLAZING \® OTHERS £
DETAILS ON gETEﬁIglr.s1 gN
SHEET 15
A A SUBSTRATE "
BY OTHERS 1/2
SECTION AN SECTION A\ SECTION /BT MAX. '
SCALE: 1/2 FULL \it/ SCALE: 1/2 FULL \11/. - SCALE: 1/2 FulLL \J1/ SPACE =| 2&5
\/\ = -0 W
» 1/2" MINIMUM TO 1 3/8” MAXIMUM | 873
1/2" MAX. SPACE —| |~ (22 2
67) " SEE "FREE SPAN JAMB PERIMETER |--- T o
SEE GLAZING —1  |=—1/2" MAX. SPACE ( " S 83
SEALANT NOTE” ON SHEET 1.) 2 53 g
/L_\ [gﬂg-s‘gh' /{D ®@\ WOOD OR 2| Sg4%
of | o s STEEL OR METAL STUD z | fizge
] 0 CONCRETE SUBSTRATE BY Sl 258"
25/16— N W4 SUBSTRATE BY OTHERS PER > | 82
WEEP HOLE @‘\ OTHERS PER ANCHOR SUBSTRATE O |
LOCATED ®\®\ 1/2" "ANCHOR REQUIREMENTS ||  BY OTHERS —
3 5/8" 54) ) MAX. REQUIREMENTS TABLE” =
FROM CD/ @ §\/ I‘ SPACE TABLE” SIDE JAMB E 5
ENDS e J , - { | l | F—PERIMITER 4 £
SEALANT ~*) ~ N\ I | —SIDE_JAMB 3/4” MIN. ANCHOR 03
. _ N SCREW PER o | 29
BY T 11/2 F—PERIMITER ol Zo
OTHERS MIN. ANCHOR SCREW I { ELEVATION 21 BC e
\ PER ELEVATION 12 N (2 ROWS) o | 28 z3
' w E=E J
| } SEE GLAZING SEE GLAZING ) wi 2,53
SUBSTRATE SEE GLAZING DETAILS ON | DETAILS ON S| 83 g4
BY OTHERS DETAILS ON ™ SHEET 15 SHEET 15 | & .38%
SECTION /BN SHEET 15 S — yw —M e i 881
SCALE: 1/2 FULL \J1/ | ZZO = J A J o 2 gE §§%
s C | = Q2 olo
T —\e | o ~ g"f"g’?i:“
| \© = 328 &
=z
) Sx%
[EXTERIOR] .J ‘/./ IO \—SEALANT BY .‘/.J (EXTERIOR \ !
SEALANT BY Wi
SECTION /T OTHERS SECTION 7T\ CTHERS SECTION m\‘ I#E'Rg" =z E?
SCALE: 172 FULL 41/ SCALE: 1/2 FuLL \J1/ SCALE: 1/2 FULL W 4;, <3
- B F= %, RS
(SIDE JAMB F—ANCHOR TO STEEL AND (SIDE. JAMB ;Eﬁ‘:’LC';(T)LRJD;O WooD OR (NO SIDE JaM g )c.-, ) (5= g
CONCRETE SKiP T oyl R
) PRODUCT REVISED = I Ty = N
as comnplying with the Florida =; S ot ek = x
Building Cede - ¢ = (7] Q,- ) ;.. =
Acceptance No_1 4 lZ" - ., D~
Expi 1 ate / ”‘, n..'.... Q@ L
T

Miani Dade Product Lunfro[




DRAWN BY: [CHEGKED BY:

1/2n MAX. SPACE — | 1/2" MAX. SPACE —- | }ég; MINIMUM TO 1 3/8” MAXIMUM PLO:.w.s. DM:.W.S'
_ "FREE SPAN JAMB PERIMETER -— w2 |"o5joosra
WOOD OR SEALANT NOTE” ON SHEET 1.)
[ METAL STUD
_—STEEL OR SUBSTRATE BY
CONCRETE ngEESRPER
SUBSTRATE BY
OTHERS PER REQUIREMENTS SUBSTRATE .
"ANCHOR TABLE” BY OTHERS &
REQUIREMENTS e &
TABLE 1l ! . SIDE_JAMB Il 4
| 3/4" MIN, F—PERIMITER 1 z
DOOR UNDER DOOR UNDER i ANCHOR 1 H
igg&%@&i SEPARATE r % EESVEW PER DOCR UNDER |[ =
APPROVAL X ATION SEPARATE :
"@1 1/2 606D (2 ROWS)  APPROVAL IM_F £
SIDE JAMB l 29
F—PERIMITER F— == l & ) Jﬁj’ﬂi
ANCHOR SCREW O F— ===\ F
PER ELEVATION \$1
2 ( ~~ d|—C\I
_: ZD:CD
=== (]]]]]D = .39
A —————— ] .._—( ) & gzmt@
EXTERIOR] =/, ( = 233
| 2238
@ EXTERIOR \h = © S:—: %gi
SECTION SECTION SEALANT BY z | B5¢g0o
OTHERS (D2 TS SEALANT BY Z | @¥SR
SCALE: 172 FULL \J2/ SCALE: 1/2 FULL \4z/ SECTION /B3N ks E| £3E%
(SIDE JAMB F—ANCHOR TO STEEL AND (SIDE JAMB F-ANCHOR TO WOOD OR SCALE: 1/2 FULL \]2/ 3| 2=
CONCRETE) METAL STUD) (NO SIDE JAMB F—ANCHOR) — 'aé'
2 L
) 5
72 |_—REINFORCEMENT AS 7 —
T SPECIFIED IN SEE GLAZING ol 02
ELEVATIONS ol Zx
/ X [ DETAILS ON | &2 .
SHEET 15 A
jJ:—_Ij of | {o 7 m gégﬁg
I DOOR UNDER \ ' / ] a | &<ze3
| $5/16 o Eg3
SEPARATE d o . By
WEEP HOLE 54 o | x 397
G~ APPROVAL ©| Begdel
] LOCATED | 5288
/D a 3 5/8" 65 S| 25 By
FROM 45 \ Nl IERtE
SEE GLAZING & ENDS — r1/4 MAX. = E“’%?& &
DETALS ON o £, 6 F e |5x8 "3
SHEET 15 (7470 [rX8 r——— — — = |25
| _» == SEALANT BY—"] f I EE
; OTHERS
LT .
< % \\\‘\g * Hg"’ / o
=~ EXTERIOR XA/ D ) g
ng’ o -._..{9 1= = ﬁg
ST 0 2= = 2%
SO M AW il E
o iE X @ 2% - = |3
EXTERIOR - .3 * s »
—gggERpl‘JTléDER PRODUCTREVISED ==z '-.l‘i’; z g ﬁ; .| =
g lying with the Florida - kY &
SECTION /& APPROVAL Bl Co CnZ  ASE
SCALE: 1/2 FULL 12/ Sypirason Date %0'/ ”0;9 b'/l/l.";?;%oﬂ\‘“ | —
SECTION Y —_ I;”“”“‘“\\ 1A\;90 5. A
e . : et o agietiTaade Product Contro REA ,
SCALE: 1/2 FULL \J2/ SHEET NO.

12 o 18



85/16"—
WEEP HOLE
LOCATED

3 5/8”

EXTERIOR]

J\

SEE GLAZING
DETALS ON ,~(1©)
SHEET 15

:ﬂh/

N
65 64
65

SECTION  /&n\

#5/16"
WEEP
HOLE

V"USCALE: 1/2 FULL \J3/

#5/16—
WEEP HOLE
LOCATED

3 5/8"

\/\

%

CHECKED BY:
W.W.5.

Mg

LOCATED
3 5/8"
FROM

o

DOW 995—1

SEALANT &
BACKER ROD
8Y OTHERS -

‘/\

SEE GLAZING 67)
DETAILS ON
SHEET 15

=1

—
o

I

3 P Ce

1/2”
MAX,

I

EXTERIOR

el A
o, 8% g @ i
0 & 7 I
Ullle——" \| &
f\’ OTHERS
SECTION /i ~®

SCALE: 1/2 FULL \J3/

EXTERIOR

o

DOW 995
SEALANT
BY
OTHERS

I

|
TTI
i

|

DOW 995~/m
I
|
I
I
I
I
I
I

=
]

US>

SECTION C—=C

(CORNER.-CONDITION)
(FOR DETAIL NOT SHOWN, SEE SECTION K/14)

SEE GLAZING : SEE GLAZING " /0912
-+~ [ gETAILS ON /@ ' ' nE / DETALS ON /‘@®
o HEET 15 a SHEET 15
IO e AN — 0 (9] —4 ~ 7
: ‘ /,B = //_@ 85/16" WEEP— ‘] T@\ & ’ O
HOLE LOCATED ] Q\._/G
el 68) d 3 5/8" FROM s _—e— 3 |
ENDS P
® ® _ @ _ .
. ~ \Q §/ DOW 995 SEALANT—T[  (—— 67 o) 3
T i = & BACKER ROD N A N { &
O) | JOF= Z 7= BY OTHERS ®/ ly - = 1/2" i
SECTION /& vereR] | skin BN
— G2 EXTERIOR g
SCALE: 1/2 FULL \J3/ A— SECTION FHDY &
: /\’ SCALE: 1/2 FuLL \J13/ 5
||
11 ~Tn .
| Hl o EXTERIOR /
| il N
! |1 1l | | 59 /W7 ~| S
' ” —: ZO.’.O'!
| (i) J 1/2 = 38w
MAX. x -QMLO
| A I3 % SPACE-! L %Lu{g
» = a H { L] - < I
| NI 3 I /2" J B SEALANT G2k 2| 32°2
W I - OTHERS f z | 560
i © 1) [P 2| BOSR
13 X O & | £58
I : 1N SUBSTRATE BY il
I OTHERS PER \a
1IN 1)@ "ANCHOR = [
| 1% REQUIREMENTS SECTION A—A SIDE JAMB F-PERIMITER ANCHOR E 2
: | i TABLE" (JAMB CONDITION) SCREW PER PER SECTION C1/11 & 2
| L (FOR DETAIL NOT SHOWN, SEE SECTION C1/11) g %§
| @esy = | By 3
| z ol 2287,
| £ 2| Be 223
I o Egy
£ 36~
| @ 2| Beis:
! e EXTERIOR 3 a9 | 25 35
e 4= 1 ﬁ'_ —
MAX. En [£ 833 gk
[ 1T ﬁ O 5 g h;
z 5%
| [\/ SECTION B-B g foe
(INTERMEDIATE CONDITION)
SPLICE JOINT DETAIL (FOR DETAIL NOT SHOWN, SEE SECTION J1/14, - &
J2/14, J3/14, WHthyg
/ /14, J4/14 & J5/14) \\\\\\“ *H,;""/ 2 S e
\\\ QS JRCTLLLY Ty 9& ” |<:: f— ﬁi
\\ '.zgt ...' lo io-../a £ 50'
- Q o‘.“l o b ¢ U'..IZ
Sog v &4 .
PRODUCT REVISED S Jxp R <
as complying withi the Florida - = '.'9. . 2O~ @
Building Code !2‘- 6 .:'z o.) g 0 42":.0 £ :: z
Acceptance No. / o-% %%6:'.. o %q,‘ o
onfaie ) ...‘.‘..... o) N REV.
| %, 1790

YT ' AW [ sHEET No.
A
(k1) 13

o 18




0%

N \ |
— L
= QI
20) UI&SEE GLAZING
EXTERIOR DETAILS ON
SECTION g7y SHEET 15

SCALE: 1/2 FuLL \J4/
VERTICAlL. FRAME MEMBER WITH

NO REINFORCEMENT
13.768 IN"4
S = 4.157 IN"3

\f‘"‘

| JJ

| 7 A

[

i =
I =1 I
Jr 1 L
| [@)

T N\-SEE GLAZING
EXTERIOR DETAILS ON
SHEET 15

SECTION 5
SCALE: 1/2 FULL \J4/

VERTICAL FRAME MEMBER WITH
REINFORCEMENT R4
| = 46.707 IN"4
S = 12.387 IN"3
(TRANSFORMED SECTION PROPERTIES IN TERMS
OF ALUMINUM)

(575D 575555 s, i
1] S
| |G \ ¢ /,/@ 3
/ ’
& N & S E
N 1 e §
77 2) % ///9_1 Iil/// - ZJQA %
7 (77 (> 74
[ IO - &) I Iéﬁ_ JI \ I f o, ] ) OI \ ! 2
| "J < - —1 L "” R L
- "\8 ] 67 N - “ —e}’_f ] | e S
SEE GLAZING ) SEE GLAZING 2 SEE GLAZING
EXTERIOR DETALS ON  [EXTERIOR 1G4 DETALS ON DETALS ON
SECTION /3 SHEET 15 SECTION g3 SHEET 15 SECTION /i SHEET 15 g
SCALE: 1/2 FuLL \14/ SCALE: 1/2 FULL \J4/ SCALE: 1/2 FULL \J14/ Py
VERTICAL FRAME MEMBER WITH VERTICAL FRAME MEMBER VERTICAL FRAME MEMBER WITH 7
REINFORCEMENT Rf WITH REINFORCEMENT R2 REINFORCEMENT R3 =
| = 30.629 IN"4 | = 37.021 IN"4 | = 41.202 IN"4 =
S = 8313 IN"3 S = 9.926 IN"3 ] S = 11.01 IN"3 Z
(TRANSFORMED SECTION PROPERTIES IN (TRANSFORMED SECTION PROPERTIES /] (TRANSFORMED SECTION PROPERTIES IN e
TERMS OF ALUMINUM) IN TERMS OF ALUMINUM) y TERMS OF ALUMINUM) 3
// -
] =
” z
( e
9 Ve o
e [
—_ — 1/ [Te]
SEE GLAZING A ) o
DETAILS ON (1 / 7 f
SHEET 15 5.
- b 40 :
of | lo g
| b1 -
"
@~ o = :
GD>— — - ROILLITTT
DOW 995 _wOj | \“‘%,?E“...f‘yi &'/ ‘
SEALANT & PRODUCT REVISED {‘\Q?‘ PN
BACKER ROD : as gmpphgﬁ% with the Florida S cg; ..;'g, o " "..-
BY OTHERS ' Building Code - A &%
@ s L PR OB 1T T x i 8
SECTION ) -;’_%‘\'....) g g ,53..
SCALE: 1/2 FULL \14/ ‘5,;63,&
VERTICAL CORNER/FRAME MEMBER WITH REINFORCEMENT R5 07 3 pR
| = 116.75 IN"4 - I
S = 17.296 IN"3
N

(TRANSFORMED SECTIO

PROPERTIES N TERMS OF ALUMINUM)

CHECKED BY:
WS,

DATE:
03/09/12

770-449-5555

955 GUTHRIDGE COURT
NORCRCSS, GA 30092

KAWNEER COMPANY, INC.

MANUFACTURER

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A. (CA 6809)
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744—3424

CONSULTANTS

s

EN W. SCHAEFER, P.E.
P.E. NO. 4413




T

.. SEE GLASS
OPTIONS BELOW

1/2” MIN. BITE 0

5

! I

(1210

SETTING BLOCK AS
REQ'D

46)

f

TYPICAL MONOLITHIC GLAZING DETA

GLASS OPTIONS:

OPTION 1: 1/2" THICK LAMINATED GLASS (1/4” HT. ST./0.060" DUPONT

BUTACITE PVB/1/4” HT. ST.)

OPTION 2 1/2" THICK LAMINATED GLASS (1/4" HT. ST./0.060" SOLUTIA SAFLEX

NG PVB/1/4" HT. ST.)

OPTION 3: 9/16” THICK LAMINATED GLASS (1/4" HT. ST./0.090” DUPONT

BUTACITE PVB/1/4” HT. ST.)

OPTION 4: 9/16” THICK LAMINATED GLASS (1/4” HT. ST./0.090” SOLUTIA
SAFLEX IIG PVB/1/4” HT. ST.)

I

L

1/2” MIN. BITE

SEE GLASS
OPTIONS BELOW

0

4\

i

(130100 gggg\nc BLOCK AS

TYPICAL 1.G. GLASS GLAZING DETAIL

(NOT APPLICABLE TO CORNER FRAME MEMBER)
GLASS OPTIONS:
OPTION 5: 1 5/16" THICK 1.G LAMINATED GLASS (1/4” TEMPERED
EXTERIOR; 1/2” AR SPACE; 1/4” HT. ST./0.060" SOLUTIA SAFLEX IlIG
PVB/1/4" HT. ST. INTERIOR)
OPTION 6: 1 5/16” THICK 1.G LAMINATED GLASS (1/4” TEMPERED
EXTERIOR; 1/2” AIR SPACE; 1/4” HT. ST./0.060" DUPONT BUTACITE
PVB/1/4” HT. ST. INTERIOR)

PRODUCT REVISED
as complying with the Florida

Building Code
Acceptancg No

Y

S SRR

Miami Dade Product Contro

Y1144

L) %4 .;' .63\0??

CHECKED BY:
WW.S.

DATE:
03/09/12

REVISION DESCRIFTION

NO.

DRAWING TITLE

7 13/16” DEEP 1600 SYSTEM 1 CURTAIN WALL (S.M.L.)

555 GUTHRIDGE COURT
770-449-5555

KAWNEER COMPANY, INC.
NORCROSS, GA 30092

-

&

2

3
>
28
me oo
w

By .3
%4; %d."’?
Wal gy
e . 3875
e 235
gE Bz

- z H

o2 Eg

gmw gog

5873

530 &

L

.-"cg}¢
A\

st

| 1730 |

S

8 2812
SCHAEFER, P.E.

W,
P.E. NO. 4413

puas |
3

SHEET NO.

15 o 18




DRAWN BY: CHECKED BY:

5.765 6.515 WHS. WWS.
5950 | 5950 _ 2.500 ~——— 2.500 ——= FoT: o,
. ‘— 0.100 r 0.100 { l
7
o) 8
t i 0.220 0.220
_— 0.125 —f f=— 0125 —= = :
— 2.479 2.479
3
£
%
. - 5 765 5.250 5.250 4
HEAD & SILL HORIZONTAL FRAMING HEAD & SILL_HORIZONTAL FRAMING ' —{~—o. | 3
®!!5|-:|: SSILL HORZONTAL £R 0) 0.100 cais 0.100 :
6.912
f 6.848 } g
. '] J ]
0.110 1,125 g HY e W e
| ; L 2,328 ! i ﬂ.] v o 0 o
(5) FEMALE_HALE EXPANSION HOR l | 0,120 == (3) STANDARD VERTICAL MULLION =| gey
| 7.599 | INTERMEDIATE_MEMBER USED 2| =383
. i )
| * ® WITH MONOLITHIC GLASS (3) CORNER MULLION USED WITH £l 2078
- WITH MONOLITHIC_GLASS | = 9.607"4 MONOLITHIC_GLASS AND STANDARD || o | 2834,
1 = 3.169" VERTICAL_MULLION OR HORIZONTAL S
0.110 ‘ 2 663 S = 3.169"3 £| 8g,%
- Wﬂw =z ﬁ 5 SN w]
@ 3.754 ———— = LG. GIASS Z | Hogrs
I = 12.76774 E] Enc
USED W{TH 1.6. GLASS 0.100 . =35
£ S = 3.805"3 3| 282
_ L 2.328 { _L?’ © Iz
2.500 ——| 2500 0.125 —| {— | 2.500 i =
: — 0.847 —t_ : | - = 2
' 0.100 ’ 1 —
2 ;| \é\q Al 0.100 0.100 g
PRESSURE PLATE WM LG, GLASS (10) PRESSURE_PLATE S| 2%
@ I-:D . w ro .,
PRESSURE PILATE 0.155 ~ | Hs .3
2.500 _._l _—""t% @ a %V §R§
R 4520 —— | | | = Ed-r?
: 2.270 . = i ARERT
2.092 0.125 —| |— LENGTH = 3.125 0125 /1 01 ] 0.875 > g,’—_‘ a8
LENGTH = 1.562” = o ezy
2.115 0.160 En (253 588
forre] i 2.270 @ A N ETh
(©3) PRESSURE_PLATE B LENGTH = 1.562" (15) SHEAR_BLOCK LENGTH = 1.562 ‘ EXPANSION MULLION TO g=o &
JO CORNER MULLION) PRODUCT REVISED 5 S
Ci as complyiug with the Florida
T Buiiding C _ i
- SHEAR BLOCK (TRANSOM Recpiootio 12~ 6/%2 . gé sy, oo
ixpirad s 1
[ 4780 — MULLION TO_STANDARD Vot o/ \\\\; FER 57, |2 P
41. 1.500 “ 4066 1 | msngggdel’mduct(:omn;l - -7‘? (‘32\ .,.;(:‘ n -..% 1 S ‘_' %Z
' i | ' | Sue R 4 h %l =
- . 8 Q % "= o) L]
’l J 0.750 0.125 5970 2.500 [ 0.050 —Jl~— J0.504 S Jxop Sig 2
: ' [ 0.050 | * =z o FoiFE
{0125 LENGTH = 4.250" ! [t | (2D) CORNER PRESSURE PLATE 5,"&3}. < o AL =
0.504 : e/ PRI | 7
MULLION TO CORNER MULLION) - (%) VERTIOAL Mo st S - o= | oA | 1790 1+
' STANDARD PRESSURE PLATE COVER =~ = ' -y, T SHEET NO.
16 o 18




DRAV\\:"NW g‘f: CHE(I:H K\f.% BY:
0.504 “4_=0F:_ }—’_" 0.997 i — 4,980 | o874 —J}~0.062 == 1.624 — —{l— 0.062 , FLOT:1-2 Y esjo /12
0.050 —~{l~- 0.942 N L] 0434 © O 5
, 0.060 ——jf=— - 1.000 1.000 &
t b Lenoti = 4.000” f L i e {
. DOOR POCKET FILLER SILL_FRAMING FILLER
2.751 @ *l 1.000 ’-v 1.000 — |
(26A)JONILPLUG USED WITH (690N PLUG USED WITH z
LG, GIASS SYSTEMS 3
® —— /] SYSTEMS 0.125 —| |— 7
' EXPANSION HORIZONTAL T =
MULLION COVER ‘\ I LENGTH IS 5
2.270 0.125 —=f = 4.000 |13
; . e 3.950 CONTINUOUS. g
CONTINUOUS. — g
3.250 —{l—o. 1.460 g
0-125 0.155
o e LG = 487" T e ~ﬁ = om
— ) LENGTH = 4.750" .
(e = 1875 oz T 500 T @umoor @ FERMIRMG0R G EpEMIE AR | o gpo
F-ANCHOR GLASS SYSTEMS =| =88
1) oM
_ ~ 10
8.500 f - éggﬁ
(27) T=ANCHOR 76 | 829
|——— . —] 3]
—] |.7 0.125 -— 1.750 ——4 1.500 |=— ———’ 1.250 f~— 0.250 ———l I—— 4 ﬁgg%
T 0187 = |- frctes Czezzz) e a / E | £58¢8
A S| 2838
1.125 ol
4 0.031 —j=~ - 0.164 —j— 0.164 —H}— ~E
1 2.281 7. &
1125 | /l— 0.164 3.388 il S
3.810 ¢ 'g Z
(32) CORNER MULLION JOINER 4560 /) 4500 4500 -
Lt ol o8
LENGTH = 2.500” 4 ) ¢ 3 ég o
COVER_ SPLICE & / - 5
® e (28) MULLION_ REINFORCEMENT ki gégié
o (57) MULLION REINFORCEMENT | = 1.453 IN"4 7/ S 63 eud
> 22D | = 2,208 IN"4 S = 0.858 IN"3 a1 ol 88t
MU.LLIQN_BEJNE_QEQEMENI S = 1.159 IN"3 MuLUQN__BﬂNEQBQEMENI Q_QB.N.EB_MULUQN < . Egﬁ
| = 5.667 IN“4 | = 1.898 IN™4 %4 o §§ 25y
S = 2485 IN“3 S = 0.844 IN™3 6 o = %m% ggm
= 22O &
= 7]
0.615 : |z
615 |—
0.638 ;
0.345 | LA a
—] 0.492 |- 0,050 0.092 | | SFER K ge, 1N 3
0.248 [ —J~o0.011 ' f STy, by
- : é(’ .o.i, i .’.‘64 Fa )
T . 0.630 SPLE siBT i
" =z fw I 23 ;1 oy
(3 1/2° 16. GLASS SPACER S ¥ p i
0.203 —| 0.202 — PRODUCT REVISED =Z3V 9 S oi=d ;
as complyin% with the Florida 5’\9 N < @ ..'S.)\ g
Buitding Code *, Lof
INTERIOR_GLAZING FIXED INTERIOR & EXTERIOR Accoptancs No 12206 2612‘3% .";?'é'é'é.‘ff"%z &
MONOIITHIC GLASS. . WIHIG & 9/16" ... .. e e Y RO /TPMAN




e e —
— —

“DRAWN BY: |CHECKED BY; }
WS, WW.S,

ITEM DESCRIPTION MANUFACTURER/NOTES ITEM # ITEM DESCRIPTION MANUFACTURER /NOTES s |
PARTS . _ , PARTS - T T
[HEAD & SILL HORIZONTAL FRAMING 6063—-T6 ALUMINUM 36 |MULLION REINFORCEMENT ASTM_A1011 GRADE 50 STEEL .
USED WITH MONOLITHIC GLASS 37 |MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL s
2 [HEAD & SILL HORIZONTAL FRAMING 6063—T6 ALUMINUM 38 [MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL
USED WITH 1.G. GLASS 39 |MULLION REINFORCEMENT ASTM_A36 STEEL 3
3 [STANDARD VERTICAL MULLION OR HORIZONTAL 6063~T6 ALUMINUM 40 |CORNER MULLION REINFORCEMENT ASTM A36 STEEL I
INTERMEDIATE MEMBER USED WITH 41_|5" X 3" X 3/8" X 6" LONG ANGLE 50 KS| STEEL g
MONOLITHIC GLASS 42_|8" X 3" X 3/8" X 6" LONG BENT PLATE 50 KS| STEFL 3
4 [CORNER MULLION USED WITH MONOLITHIC GLASS | 6063—T6 ALUMINUM 43 |1/2" 1.6. GLASS SPACER 3005 OR 3105 ALUMINUM a
AND STANDARD VERTICAL MULLION OR HORIZONTAL SEALS & SEALANTS z
INTERMEDIATE MEMBER USED WITH 1.G. GLASS 45 [FIXED GASKET TREMCO TR4726P EPDM_DUROMETER 70 +/-5 g
5 |FEMALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 46 |THERMAL SEPERATOR TREMCO TR—4015P EPDM_DUROMETER 60 +/-5 ||
WITH MONOLITHIC GLASS 47 [INTERIOR GLAZING FIXED GASKET USED WITH TREMCO TX—4305P EPDM DUROMETER 70 +/-5 |3
6 |MALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 1/2" MONOLITHIC GLASS
WITH MONOLITHIC GLASS 48" '[INTERIOR & EXTERIOR GLAZING FIXED GASKET TREMCO TR—4014P EFDM DUROMETER 60 +/-5
7 |FEMALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM USED WITH L.G. & 9/16” MONOLITHIC GLASS
WITH 1.G. GLASS 49 |WEDGE GLAZING GASKET TREMCO TR—4873S_SILICONE DUROMETER 70 +/-5
8 [MALE HALF EXPANSION HORIZONTAL USED 6063—T6 ALUMINUM 51_ |STEEL TO ALUMINUM SEPERATOR THERMO—TOK_TN—9004 A s
WITH 1.G. GLASS ’; FASTENERS = 2Zxzg
9 |CORNER MULLION ADAPTOR 6063—T6_ALUMINUM 54 [1/4" X 1" HWHTFS 300 SERIES S.. WITHIN 3" FROM ENDS & 9” MAX. 0.C. “ Z| =833
10| PRESSURE PLATE 6063—T6_ALUMINUM 55 |{1/4-20 X 2" FNTCS 300 SERIES S.5. WITHIN 9" FROM ENDS & 9° MAX. O.C. ~ §u<£
11__|PRESSURE PLATE 6063—T6 ALUMINUM 56 |NO. 10 X 3/8" FHTFS 300 SERIES S.S. 1_PER JOINT PLUG 3] 3894
12| PRESSURE PLATE 6063-16 ALUMINUM 57 []10=16 X 1 1/4" FHSDS 300 SERIES S.S. 1_PER VERTICAL MULLION SPLICE SLEEVE | oEyvy
13| PRESSURE_PLATE 6063-T6_ALUMINUM 58 [NO. 12 X 1" PHTFS 300 SERIES S.S. 1_PER VERTICAL MULLION SPLICE SLEEVE z| B3g9
14 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T6 ALUMINUM 59 |[NO. 12 X 1" PHIFS 300 SERIES S.S. 2 ABOVE SPLICE; WITHIN 3” OF END 3° 0.C, 2l 208"
STANDARD VERTICAL MULLION) 60 [1/4" X 3" S.S. HWHTFS FNTCS 300 SERIES S.S. | WITHIN 9" FROM ENDS & 9° MAX. O.C. > | 42
15 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—T6 ALUMINUM 61 |1/4-20 X 2° FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 24" MAX. O.C. 1| g
CORNER MULLION) 62 {[NO. 10 X 1/2° PHIFS 300 SERIES S.5. WITHIN 6" FROM ENDS & 18" MAX. O.C. = IE
16 |SHEAR BLOCK (TRANSOM MULLION TO 6063—T6 ALUMINUM 63 |NO. 8 X 1/2” FHIFS 300 SERIES S.S. 2 PER_U—ANCHOR il
STANDARD VERTICAL MULLION) 64 /[NO. 12 X 1 7/8” PHIFS 300 SERIES S.5. 2 PER SHEAR BLOCK g 3
17 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 60635—T6 ALUMINUM 65 |[NO. 12 X 7/8" FHIFS 300 SERIES S.. 2 PER_SHEAR BLOCK =
TO STANDARD VERTICAL MULLION) 66 |{NO. 12 X 7/16" PHIFS 300 SERIES S.S. 3 PER_SHEAR BLOCK S| 23
18 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063—T6 ALUMINUM 67 [NO. 12 X 1/2" FHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK © §w @
TO CORNER MULLION) 68 |NO. 12 X 1/2” FHTFS 300 SEREES S.S. 4 PER SHEAR BLOCK o | /282,
19 |VERTICAL MULLION SPUICE SLEEVE 6063—T6_ALUMINUM bl/e < 223
20 |STANDARD PRESSURE PLATE COVER 6063-T6 ALUMINUM o ea £y 3
21 |CORNER PRESSURE PLATE COVER 6063~T6 ALUMINUM o s 8§%
23 |EXPANSION HORIZONTAL MULLION COVER 6063~T6_ALUMINUM > ?'% gof
24 |DOOR POCKET FILLER 6063—-T6 ALUMINUM ~ |53 82
25 |SILL FRAMING FILLER 6063—T6 ALUMINUM =~ %wg goz
(AT 1/4 POINTS OF FRAMING SPAN) ¢ =8 2
26A |JOINT PLUG USED WITH MONOLITHIC 6063—T6 ALUMINUM 2 lrxs
GLASS SYSTEMS Wi, .
268 |JOINT PLUG USED WITH I.G. GLASS SYSTEMS 6063—T6 ALUMINUM \\\\ QK 3'/,, u
27 |T-ANCHOR 606316 ALUMINUM &S eI 2 o
28 |F—ANCHOR 6063—-T6_ALUMINUM S%Y",.-; 10 RO g%
29 |U~ANCHOR 606316 ALUMINUM So e 54 3
30 |F—PERMITER ANCHOR USED WITH WITH MONOLITHIC | 6063—T6 ALUMINUM St Jx ow gl 7=
:3 0 . < o’ e
GLASS SYSTEMS =208 B S
31 |F-PERIMITER ANCHOR USED WITH WITH LG. 6063~T6 ALUMINUM PRODUCT REVISED 0, = oy =
GLASS SYSTEMS as complying with he HIor I
Building Code ) .y W sass OQ \\\
32 |CORNER MULLION JOINER 5005 H32 ALUMINUM Acceptaice No é'gé K% * PR W |
33 |COVER SPLICE 5005 H32 ALUMINUM - Hipaw 1790

Miam} Pade Product Control

SHEET NO.
e r—————.\«1 18 oF 18 I



